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Question Number : 1 Question Id : 97675522027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If + means X; + means — ; — means + ; X means +, then what will be the value of the following expression?

8+32+6%x20-5
Options :

1. % 45.6

2. % 54

3. % 212

4, ¥ 254

Question Number : 1 Question Id : 97675522027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

i + BT 31 x ; = BT 31— — BT 31 = ; x BT 31 + B, 1 FRGferRad seie &1 | =1 gme

8+32+6%x20-5
Options :

1. % 456

2. % 54

3. % 212

4.+ 254

Question Number : 2 Question Id : 97675522028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If it is given that % stands for +, # stands for —, (@ stands for +,  stands " and & stands for x, then

25# 8"(1/3) & 27(—1) % 99 @ 3”2 is equal to:
Options :

1. % 132

2.9 35

3. % 83

4. % 100

Question Number : 2 Question Id : 97675522028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gie feamrmn g, fb v w1 3f +, e p1 31— @ P 31f +, A BT 3S A SR & BT 3 < B, Y

25# 8"(1/3) & 27(—1) % 99 @ 3”2 &1 HH T 8N
Options :

1. % 132

2.9 35

3. % 83



4. % 100

Question Number : 3 Question Id : 97675522029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the following words in a meaningful sequence and choose the correct order.

1. Paleolithic age
2. Mesolithic age
3. Neolithic age

4. Chalcolithic age
5. Iron age

Options :

1. % 53,2,1,4
2.% 4,52,1,3
3.% 52,431
4.9 1,2,3,4,5

Question Number : 3 Question Id : 97675522029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad weal &1 T ohH | TafRyd &Y 3R I HH BT I H1 |

1. QRTITSTOT T
2. TEUTSTOT

3. "9YTYToT gIT
4. dTEYTYTUT YIT
5. <8 gl

Options :

1. %5/3,2,1,4
2.%4,52,1,3
3.%5,2,4,3,1
4.4 1,2,3,4,5



Question Number : 4 Question Id : 97675522030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 2 ¢ < 2 ¢ 2

If “+’ means ‘—’, ‘-’ means ‘x’, ‘X’ means ‘+’, and ‘=’ means ‘+’, then what is the value of the expression

18x3+18+5-2
Options :
1. % 6

2.¥ 14

3. % 32
4. % 36

Question Number : 4 Question Id : 97675522030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G+ BT 3 <, BT 3 o, x BT 3+ 3R+ BT 3 -+ B, M e SHiiep b1 /I &1 T2

18 x3+18+5-2
Options :

1. % 6

2.9 14

3. % 32

4. % 36

Question Number : 5 Question Id : 97675522031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 2 ¢ 2 ¢ 2

If ‘“+’ mean ‘+’, ‘" means ‘+’, ‘<’ means ‘—’, and ‘=’ means ‘x’, then the value of

1I8x12+2-5+6
Options :
1. % 219
2. % 43



3. % 33
4.9 42

Question Number : 5 Question Id : 97675522031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G <+ BT 3+, < BT 3 <, 0 BT 3 > 3R+ BT 31 x> B, T I SHitep b1 /I -1 BTN

18x12+2-5+6
Options :
1. # 219
2. % 43
3. % 33
4. ¥ 42

Question Number : 6 Question Id : 97675522032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If U denotes ‘=, V denotes ‘x’, W denotes ‘+’, and Y denotes ‘—’, then the value of

OW14U7Y8V2
Options :

1.¥ -5

2.% 5

3. % -19

4. % 2

Question Number : 6 Question Id : 97675522032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfg U BT 31 =, v T 3if >, w BT 31+ 3R v 1 31 < B, A FRgfeifad <ieies &1 A o’ g

IW14U7Y88V?2



Options :
1.¥ -5
2. %5
3. % 19
4. % 2

Question Number : 7 Question Id : 97675522033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If *—* stands ‘+’, “+’ stands for ‘x’, ‘X’ stands for ‘-, then which one of the following expression is correct.
Options :

1. # 4-7x 9+8=-14

2. % 6x 13+3-1=32

3.9 3+4-2x 5=9

4. % 2x 11+6-10 =-54

Question Number : 7 Question Id : 97675522033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g = BT 31 4, + BT 3 o, x> BT 372 = g, AAfeiRad & @ oi-91 ol ¥gl 82
Options :

1. # 4-7x 9+8=-14

2. % 6x 13+3-1=32

3.9 3+4-2x 5=9

4. % 2x 11+6-10 = -54

Question Number : 8 Question Id : 97675522034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

[3 b < 2

If ‘> mean ‘+°, ‘-’ mean ‘+’, ‘X’ mean ‘-, and ‘“+’ mean ‘X’, then

(60 x4) 8 x 1} + {5+7x2+15+1} =2



Options :
1.9 1
2. % 4/3
3. % 8/3
4. % 8

Question Number : 8 Question Id : 97675522034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g = BT 3rf <+, BT3RS 2, o BT 3 = 3R+ B 3 x5, A Fmferied =S &1 A a1 g

{(60x4) 8 x 1} +{5+T7x2+15+1}="?
Options :

1.¥ 1

2. % 4/3

3. % 8/3

4. % 8

Question Number : 9 Question Id : 97675522035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The digits of two digit number differs by 3. If the digits are interchanged and the resulting number is added to the original number, we get 165.
What is the original number ?

Options :
1. % 143
2. % 58
3. % 85
4. % 96

Question Number : 9 Question Id : 97675522035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Gl 3! B T T-T & 3] T 3R 3 g1 Tfe bl P IR I a1 ST § 3R GRUMH TRean gt W& | S & oifdll &, o 84 165 U
BT 8 | I T &1 g2

Options :

1. % 143

2. % 58

3. % 85

4.9 96

Question Number : 10 Question Id : 97675522036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following two signs need to be interchanged to make the given equation correct?

72+12-4+9x36=6
Options :

1. # +andx

2. % +and —

3. % +and +

4. ¥ xand +

Question Number : 10 Question Id : 97675522036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 7 O {1 3l gl 1 oo & gaat dq R foar mar wHianur dgferd s

72+12-4+9%x36=6
Options :

1. % = 3R

2. % 4+ 3R

3.% £ 3R+
4.a/><3-ﬁT+



Question Number : 11 Question Id : 97675522037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If ‘R’ stands for addition, ‘T’ stands for subtraction, ‘S’ stands for multiplication and ‘U’ stands for division, then what is the value of:

12T2R20U5S 6=?
Options :
1. ¥ 34
2. % 44
3. % 24
4. % 14

Question Number : 11 Question Id : 97675522037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g R BT RIS |, ‘T BT 3 TeI 8, °S” BT 3R UM § 3R U’ FT 371 YW1 §, < 795 &7 A1 1 x|

12T2R20U5S6="7
Options :
1. ¥ 34
2. % 44
3.% 24
4. % 14

Question Number : 12 Question Id : 97675522038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following two numbers need to be interchanged to make the given equation correct?

15+3x4-18+5=29
Options :

1. % 4and 3

2.% 3and 5



3. % S5and 4
4., % 18 and 3

Question Number : 12 Question Id : 97675522038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 9 fooT &1 TRemafl &1 3o & gaat = WR e mam iRy dgferd grm?

15+3%x4-18+5=29
Options :

1. % 4313
2. ¥ 33R5
3. % 53R 4
4. % 18 3R 3

Question Number : 13 Question Id : 97675522039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following two numbers need to be interchanged to make the given equation correct?

9x5+2+8-7=22
Options :

1.¥ 9and8

2. % 9and7

3. % 7and 8

4. % 2and 8

Question Number : 13 Question Id : 97675522039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{9 5 O b1 G ATl i STUH | Seell B WR o a1 Jetehor Hferd grm?

9x5+2+8-7=22



Options :

1.¥ 938
2. % 93R7
3. % 73R8
4. % 23R8

Question Number : 14 Question Id : 97675522040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the given interchanges are made in signs and digits, which one of the following equations would be correct?

Given interchanges:
Signs: + and —
Digits: 8 and 6

Options :

1.%6-8+3x9=3
2.99+8x2-6=5
3.#8+9-3x6=3
4. % 3x8-9+6=3

Question Number : 14 Question Id : 97675522040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe fau U gl 3R sichl 1 Uy & Faal Sl 8, Ot e & T BT JHihur Iet g2

TR UTARITY (39 H el
ﬁE:Jr&ﬁT—

3ip: 8 3R 6

Options :

1.#% 6-8+3x9=3
2.¥9+8x2-6=5
3.%8+9-3x6=3

4, % 3x8-9+6=3



Question Number : 15 Question Id : 97675522041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If °x’ stands for addition, ‘+’ stands for subtraction, ¢ +’ stands for multiplication and ‘-

2

stands for division, then what is the value

35+8-5x6+7=7
Options :

1. % 30

2.9 55

3. % 49

4. % 50

Question Number : 15 Question Id : 97675522041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g x BT AL S B, + BT 3 T g, + BT F o g 3R < 1 31 yrT 8, A g et o1 11 1 AR |

35+8-5x6+7="?
Options :
1. ® 30
2.9 55
3. % 49
4. % 50

Question Number : 16 Question Id : 97675522042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the given interchanges are made in signs and numbers, which one of the following equations would be correct?

Given interchanges:
Signs: x and —
Numbers: 5 and 6

Options :



l.*5-3x6=22
2. % 5x3-6=18
3.¥5-6x4=26
4. % 5x6-8=12

Question Number : 16 Question Id : 97675522042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe fau U gl 3iR sichl 1 Uy & Faar Sl 8, Ot g & T BT e Iet g2

ORI YRR (A0 H sae):
forg: x 3R -

3 5 3R 6

Options :

l.%5-3x6=22

2.% 5x3-6=18

3.9 5-6x4=26

4. % 5x6-8=12

Question Number : 17 Question Id : 97675522043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct combination of mathematical signs to replace * signs and to balance the following equation.

(11*75% 15) * 2 * 57
Options :

l.#® ++x=

2.% x ++ =

3.% ++x=

4. ® x++=

Question Number : 17 Question Id : 97675522043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

39 T Rl & gt Yo &1 T &, 5 + g & a1y ufaufid oA 9 g wfteror digfed gl

(11*75% 15) * 2 * 57
Options :

l. % ~+x=

2.% X+~ +=

3.% ++x=

4. % x++=

Question Number : 18 Question Id : 97675522044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

) (o ? Gy
=7 ta X

If ‘+> means ‘-’, ‘-> means ‘x’, means ‘<, and ‘+’ means ‘+’, then

18x6+2-6+4=?
Options :

1.*9

2. % 15

3.% 13

4. 11

Question Number : 18 Question Id : 97675522044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afG <+ BT 3 2, > BT 3 o, > BT 3 <+ 3R - BT 3+ g, l

1I8x6+2-6+4="7
Options :

1. %9

2. % 15

3. % 13

4.9 11



Question Number : 19 Question Id : 97675522045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option with the correct sequence of mathematical signs which when substituted in place of A and B respectively, makes the given
equation correct?

1I8A6B3=06
Options :

1. % +and -
2. % x'and '-'
3.9 +'and '+
4. % +'and '+

Question Number : 19 Question Id : 97675522045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TiordTa gl & T8l % ard fadhed & gAY o HHR: A 3R B & I IR UfRAd -  fean mar wies o dqferd gt sime,

I8A6B3=6
Options :

1% 43R
2. % x 3R
3. ¢ 2 3R

Question Number : 20 Question Id : 97675522046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A father said to his son, " My age was half of your present age at the time of your birth." If the father's present age is 63 years, the son's age five
years back was:

Options :
1. ® 24 years



2. % 30 years
3. % 37 years
4. % 42 years

Question Number : 20 Question Id : 97675522046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS AT 3 3o O ¥ Fal, "B Y R OfFH & T8 e add 3y &t 3ieft 2t 1+ afe far &t adur emg 63 v §, 6 g &t smg U=

¥ ugd T 2

Options :
1. % 2499
2. % 309y
3. 379N
4.% 4299

General Awareness
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Group Id : 976755773
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
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General Awareness
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Section type : Online
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Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 9767551400
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 97675522047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many times has India won the ICC Cricket World Cup?
Options :

1. * One

2. ¥ Two

3. ®* Three

4. * Four

Question Number : 21 Question Id : 97675522047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR A fbd=l IR St fordbe fay o Sitdl 82
Options :

1. % U

2.3

3. % diF

4, % TR

Question Number : 22 Question Id : 97675522048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A non-performing asset (NPA) is a classification used by banks to refer to:

Options :

1. # investment in risky sectors

2. # vault cash kept with RBI that does not yield any interest rate

3. % an asset that does not grow in value proportionate to the growth of the economy
4. ¥ loans those are liable to be defaulted

Question Number : 22 Question Id : 97675522048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 3T (THHY) S gRT fd Tefid o & forg IuaT faar S aren anffezor g2
Options :

1. ® SR YR &= | Mo

2. % IREISE & YN TW! T3 BIF AH¢] (dlee D) foT R HIg AT & AN el skl &

3. % U gREURy o Joa o srfarawy &1 gfg & Jamur 3fs g1 gidl o

4. ¢ T BT, orgest e dfer 81|

Question Number : 23 Question Id : 97675522049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was appointed as the first and the only Indian Governor- general of India in 1948?
Options :

1. ¥ C. Rajagopalchari

2. % Sarvepalli Radhakrishnan

3. # B.R. Ambedkar

4. ® Rajendra Prasad

Question Number : 23 Question Id : 97675522049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1948 T YR & UG 3R THHE YR Ta-R-oRd & ¥ | fbd fgad fovar mar um




Options :

1. ¢ Y. ASHYTCTRY
2. % Faued! JAYTHOH
3. % d. 3R, FdSH
4. % o< U1

Question Number : 24 Question Id : 97675522050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many seats were won by Congress during the 16th Lok Sabha Elections in 2014?
Options :

1.9 44

2. % 48

3. % 40

4, % 84

Question Number : 24 Question Id : 97675522050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2014 F 16 A NHGHT TG & SR HIU A fda-T dic Siict o2
Options :

1. ¥ 44

2. % 48

3. % 40

4, % 84

Question Number : 25 Question Id : 97675522051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given are the states that underwent an alteration of names in the constitutional history. Match them with their correct years, respectively.

States and their new names Year



1 Orissa/Odisha 12007

2 Mysuru /Karnataka i1 1969
3 Uttaranchal/Uttarakhand 111 2011
4 Chennai /Tamil Nadu 1v 1973

Options :

1. # 1-1ii, 2-iv, 3- 1, 4- iii
2. % 1-1ii, 2-1, 3- iv, 4- ii
3. % 1-1iv, 2-1, 3- i, 4- iii
4,9 1-iii, 2-iv, 3-1, 4- ii

Question Number : 25 Question Id : 97675522051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Ty fau 71u § e forg aenfaes 3faer & St A1 ufkad- gan g1 3 Sy 3% et auf o e sifor|

I 3R 3P ¢ A1 GL
| IS/ 3nfeam 12007
2 TR / FlcH i 1969

3 IREA / IR iii 2011
4 T9lg / AT iv 1973
Options :

1. % 1-1ii, 2- iv, 3- 1, 4- iii
2. % 1-1iii, 2- 1, 3- iv, 4- i
3. % 1-1v, 2-1, 3- i, 4- iii
4, % 1-iii, 2- iv, 3- 1, 4- ii

Question Number : 26 Question Id : 97675522052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the most renowned musician in the court of the Mughal emperor Akbar ?
Options :

1. ¥ Muhammad Shah

2. % Mian Tansen



3. % Raja Man Singh
4. # Ali Khan Karori

Question Number : 26 Question Id : 97675522052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafRed § § &9 Id TU1e 3fdeR & aaR J oy URTg TfideR 32
Options :

1. % HeHq RTe

2. « ol aree

3. % 7ol 7 Rig

4. % 3l GH PR

Question Number : 27 Question Id : 97675522053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the Biochemical Oxygen Demand (BOD) of clean water?
Options :

1. ¥ Less than 5 ppm

2. % Less than 6 ppm

3. # Less than 6.5 ppm

4. % Less than 6.9 ppm

Question Number : 27 Question Id : 97675522053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WS od & fore Sg I9mafAe SieRfiS \iT (BOD) &1 82
Options :

1. ¥ 5 ppm Y

2. % 6 ppm J Y

3. % 6.5 ppmﬁm




4. % 6.9 ppm qHH

Question Number : 28 Question Id : 97675522054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which monument among these was declared as a UNESCO World heritage site in 1993?
Options :

1. # Jantar Mantar

2. % Red Fort

3. % Agra Fort

4. ¥ Humayun's Tomb

Question Number : 28 Question Id : 97675522054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad # & fobd RS &1 1993 § UNESCO §RT fay eRIgR R & U H OIS fobam i
Options :

1. % SR AR

2. % T fobel

3. % MR &I fobetm

4. ¥ GHIY BT HHR

Question Number : 29 Question Id : 97675522055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among these is a scalar quantity?
Options :

1. ¥ Pressure

2. % Displacement

3. % Force

4, % Momentum



Question Number : 29 Question Id : 97675522055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrofefed o 9 SH-0 T sife=r R g2
Options :

1. ¥ qld

2. % fqRTH

3. % dd

4. % A

Question Number : 30 Question Id : 97675522056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is a natural olfactory indicator?
Options :

1. # Potato

2. # Cauliflower

3. % Onion

4. ¥ Brinjal

Question Number : 30 Question Id : 97675522056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafed # 9 sH-ar e Q@W Tief AP (Olfactory Indicator) 87

Options :



Question Number : 31 Question Id : 97675522057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When did the Partition of Bengal take place?
Options :

1. % 1903

2. % 1905

3. % 1904

4. % 1906

Question Number : 31 Question Id : 97675522057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST T faUTST e §3HT U2

Options :

1. % 1903

2. % 1905

3. % 1904

4. % 1906

Question Number : 32 Question Id : 97675522058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states or Union Territory has the best sex ratio according to census of India 2011?
Options :

1. * Chhattisgarh

2. # Tamil Nadu

3. ¥ Puducherry

4. # Andhra Pradesh

Question Number : 32 Question Id : 97675522058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

9 T T fpd og a1 % MRIT TSR & R D1 SHRT0MT 2011 & SER Ja9 9§ oo g2
Options :

1. % BUINTE

2. % qfEeg

3. ¢ UG

4. % YUY

Question Number : 33 Question Id : 97675522059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Protima Gauri Bedi or Protima Bedi was mainly known for which of the following Indian classical dances?
Options :

1. # Sattriya

2. % Qdissi

3. # Kathakali

4. ¥ Mohiniyattam

Question Number : 33 Question Id : 97675522059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T MY ot @t Thifar ot T IR R FafaRad 7 9 forg URdha Imeda T & fog ol o
Options :

1. %

2. ¢ 3feEHt

3. % HYDal

4. % TifgercH

Question Number : 34 Question Id : 97675522060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



During which of the following months the festival Onam is celebrated?
Options :

1. # January - February

2. ¥ August — September

3. % May — Jun

4. ® Qctober - November

Question Number : 34 Question Id : 97675522060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol & 9 forg wE= o S ud H=mm STl g2
Options :

1. ® Sa’) - BReR]

2. ¢ IR - RYTFR

3. % Hg -9

4. % I - TR

Question Number : 35 Question Id : 97675522061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PrRiad & @S-8 URd &9 veeh e el g
Options :

1. ¢ YR 3ienfies fad v (FCl Lid.)

2. % YR e o 3R faw A (cic)

3. % YR Sfienfie 9 §% (1DBI)

4. % YR 3fenfie faw §& fafiies qiB

Question Number : 35 Question Id : 97675522061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the India's first development finance institution?



Options :

1. ¥ Industrial Finance Corporation of India (IFCI Ltd.)
2. # Industrial Credit and Investment Corporation (ICICI)
3. # Industrial Development Bank of India (IDBI)

4. ® Industrial Investment Bank of India Ltd. (IIBI)

Question Number : 36 Question Id : 97675522062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In context of Instruments of monetary policy, CRR stands for:
Options :

1. ¥ Cash reserve ratio

2. % Cash reserve rate

3. # Current repo rate

4. % Current reserve ratio

Question Number : 36 Question Id : 97675522062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Hifd & wiedl & Ha &, CRR &7 37 &:
Options :

1. ¢ &3 Rord Yz (Cash reserve ratio)

2. % HYReE e (Cash reserve rate)

3. % YT YUI T (Current repo rate)

4. % PIC ﬁﬂéw (Current reserve ratio)

Question Number : 37 Question Id : 97675522063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pushkar, which is a holy place for Hindus is located in which of the following states of India?
Options :

1. ¥ Haryana



2. % Delhi
3. ® QGuyjrat
4. ¥ Rajasthan

Question Number : 37 Question Id : 97675522063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 7 T fog yRda 3w  fég il &1 ufad M gwhe Rud g2
Options :

1. % giaron

2. % facedl

3. % oId

N S USEIE

Question Number : 38 Question Id : 97675522064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In medieval times all those who adopted Islam as their religion had to accept, in principle, the pillars of the faith.
Options :

1. %7

2.%6

3.¢¥°5

4. % 4

Question Number : 38 Question Id : 97675522064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T H, 61 5%am &1 3uH 4 & U | 3o ot 39 O ) Agie T Y, Ay & THT BT WIBR BT TST UT|
Options :

1. %7

2.% 6




3.¥°5
4. % 4

Question Number : 39 Question Id : 97675522065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Government run by the Priests in the name of God is termed as
Options :

1. # Autocracy

2. # Democracy

3. % Theocracy

4. # Plutocracy

Question Number : 39 Question Id : 97675522065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YITA 3 -1 TR YoTRE gRT TS 7S G JUMTel (FRER) ! T BT ST 82
Options :

1. ® ThdF (Autocracy)

2. % Alhad (Democracy)

3.« yidd (Theocracy)

4. % YfAHad (Plutocracy)

Question Number : 40 Question Id : 97675522066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which sportsperson is fondly called as 'The Flying Sikh'?
Options :

1. * Sardar Singh

2. ¥ Milkha Singh

3. ¥ Bishan Singh



4. * Dara Singh

Question Number : 40 Question Id : 97675522066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5y faarst & g wemsT RRar & 719 § S o1 82

Options :
1. % MR ¥
2. ¢ T g
3. % fo2 Rig
4. % TRIT¥R
Arithmetic Ability
Group Number : 3
Group Id : 976755774
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability
Section Id : 9767551204
Section Number : 1
Section type : Online
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Number of Questions : 20

Number of Questions to be attempted : 20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551401
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 97675522067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 824B is divisible by 14, then what is the value of 8B?
Options :

1. 48

) #® 32
3 % 24

4 % 18

Question Number : 41 Question Id : 97675522067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe AT 8248, 14 Y YUIT: fGHTT B, I 8B &1 HIF J1d DITSTT|

Options :
1« 48



4 % 18

Question Number : 42 Question Id : 97675522068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the sides of a rectangular garden are 12 m and 4% m, then find the area (in m?) of the garden.
Options :

1
T,

1. %

Question Number : 42 Question Id : 97675522068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
¢ U HGAIHR S & Yol 12 m 3R 42 m g, @ S D1 &G (m? H) J1d BT
Options :
1
73

1. %

7 e
2.¥ 3



Question Number : 43 Question Id : 97675522069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
142 42 %3 6= 3T =1

4 6 8 12 2
Options :

5
4
24

Question Number : 43 Question Id : 97675522069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el g e N R

4 6 8 12 2
Options :

7
| % 24



2. % 3
i

3. B
3

4 ® 12

Question Number : 44 Question Id : 97675522070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let a, b and c be positive. Then what is the value of ¢ —a. if

ala+b+c)=85
b(a+b+c)=96, and
cla+tb+c)=108

(correct to three decimal places)
Options :

| % 6.353

5 % 5.434

(98]
S
[
fad
hn
L)

I
b
[
Ln
n
[

Question Number : 44 Question Id : 97675522070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

M TfoTE b a, b 3R ¢ ¢FTES g1 3,
ala+b-+c)=85

b(a+b+c)=96, AR

clatb+c)= I{JE%.

dl ¢ —a I T J1d B (GHAT & A RIFET db Tai)

Options :
1 #® 6.353

Question Number : 45 Question Id : 97675522071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
% is what per cent of g ?

Options :
1. #® 150%



4 % 180%

Question Number : 45 Question Id : 97675522071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2 & feheH ic=Id ST A L 82
Options :

1. #® 150%

7 « 160%

3 % 175%

4 % 180%

Question Number : 46 Question Id : 97675522072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The fraction representation of 0.00757?
Options :



o |

Question Number : 46 Question Id : 97675522072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0.0075 o oTT WIYRUT FHE 1 g2

Options :

3. 400

Question Number : 47 Question Id : 97675522073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average of the following data 347, 264, 19, 348, 68, 59 A, B, 247, 359 and 294 is 197. The numbers A and B are less
than 100 but greater than 10 and having one common digit. Then sum of all possible distinct values of [A—B | is:
Options :

1. % 83

5 & 104



3 % 54

4 % 98

Question Number : 47 Question Id : 97675522073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIREd e sl 347, 264, 19, 348, 68. 59 A, B, 247, 359 3R 204 BT AT 197 8| GBM AR B, 100 G HHE
aﬁﬁl{]ﬂa3-@5%“3%?3355!@%W%IL_‘ﬁ|A—E|%wﬂ'lﬂﬁﬂﬂlﬁ{pﬁssibledistinctvaiues}ﬂ%?lﬁ
|

Options :
1. % 83

) o 104
3. % 5

4 % 98

Question Number : 48 Question Id : 97675522074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

-..'x'z+ 'l,’z .
Ifx : y =4 :7 then the value of —— is:
x? —y
Options :
. % —1

65

2. ¥ 23



o
m

33

Question Number : 48 Question Id : 97675522074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g x:y=4:78. AL SIHA IS

xz

Options :
% —1

63
2. W 33

Question Number : 49 Question Id : 97675522075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper sells a bed sheet for 770 at a profit of 10%. He sells another bed sheet which was a little damaged for 2
475 at a loss of 5%. His overall profit or loss %o is:

Options :



| ® 24.36% profit
o # 24.36% loss

3 2 % profit

35% loss
4

Question Number : 49 Question Id : 97675522075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U DGR Ueh 9 RIT 100% & AH W 2770 H S9d1 81 98 U AR &S KT 7 475 T 506 & B IR 9l ¢ ol
JTot e ot | 39! GHT 1Y 91 g1+ J1d Hiforg|

Options :
1 % 24.36% UH

5 % 24.36% I

. ¥3§% Y

32% gl

4. %

Question Number : 50 Question Id : 97675522076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How much time will a 77 m long train will take to cross a bridge of length 229 m, when the train is running at a speed
of 45 k;mvhour ?
Options :

1. % 68 seconds

7 « 24.48 seconds
3 % 13.68 seconds

4 % 18.32 seconds

Question Number : 50 Question Id : 97675522076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
45 km/hour &1 ITe1 Y EISA4IT, 77 m W&l U ¢ Dl 229 m HETg 16 U Yl UR 31 H -1 GHY TRT ?

Options :

| % 68UHS

5 v 2448 U$HE
s % 13.68UPHS
4 % 1832UPS

Question Number : 51 Question Id : 97675522077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



h

Area of above triangle (in unit square] is
Options :
R4 56 wit”

) ® ID\l’gﬂir:’r:

3 % E\Em.'-:'r:

L]
L

Lt

P
#
|.:|

Question Number : 51 Question Id : 97675522077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
7

SWRIG Y BT &6 1 B (unit? H)

Options :

1 5-\./5 wunit®



5w 1036wt

3 ® SN24umit’

Lad
L

wt”

I-.J'|

Question Number : 52 Question Id : 97675522078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The compound interest on 2 10,000 at 8% per annum is ¥ 1,664. The period (in years) is:
Options :

% 3

2. % 4

I

Question Number : 52 Question Id : 97675522078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 10,000 TR ST ] 89 TN & T 7 1,664 DI Tshgieq oTol WL 811 & | FHATG J1d B | (G91 H)

Options :

1. % 3



I

Question Number : 53 Question Id : 97675522079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A alone can complete a work in 10 days and B alone can complete it in 15 days then in how many days they together

will finished one third of the work?
Options :
1. ® 15

> # 18

3 % 0

Question Number : 53 Question Id : 97675522079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Ahdl A TP B Dl 10 &7 H TH B Tbdll © 3R B I dMA B! 15 &7 H THAT B Gobdl g, 4l &I Uh
g1y e I8 &1 & Uah-[agRs UF & [ fad § A Sl

Options :

1. % 15



Question Number : 54 Question Id : 97675522080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The lengths of the two diagonals of a rhombus are 43.6 cm and 10 cm, respectively. What is the area of the rhombus?
Options :

| % 109 cm?
7 « 218 cm?
3 % 327 cm?

4 % 436 cm?

Question Number : 54 Question Id : 97675522080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U GUITHS & &l [l &) eiargdl sHHRT: 43.6 cm 3R 10 cm & | GAIIYS HI &7 (a1 R

Options :

| % 109 cm?

> « 218 cm?



3 ® 327 cm?

4 % 436 cm?

Question Number : 55 Question Id : 97675522081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the histogram given which represents the heights of the children in a class and answer the questions.

18
16 1

14 |

.
-

12 =

18 +

Number of children

0 YV~
1005 110.5 1205 130.5 1305 1505

Heaght [im cm)

Find the number of children whose height is less than 130.5 cm.
Options :
1. % 55

2« 45



3. % 51

4. % 00

Question Number : 55 Question Id : 97675522081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S feu TE fee A &1 21T &3 Sl U efl H B I TS Sl gidl . 3R 4 f3U T gsil 1 3R <

18
16 -
14
12 +

10 1

tﬂa“ifﬁrm}

100.5 1105 1205 130. 5 140.5 150.5

FETS (cm &)
>

31 SHE & T (number of children) Sﬂﬂﬁ oDl & ﬂlé (height) 130.5 cm d®H %’I



3. % 31

4 % 60

Question Number : 56 Question Id : 97675522082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following pie chart carefully and answer the questions given.

The pie chart given here represents the various primary sectors contribution to the GDP for the vear 2019-20.
Total amount contributed = 72000 Crore

Field Crops
14% Fruit &
Aquaculture Vegetable
Crops
Nursery Crop 5%

Livestock &
Miscellaneous
28%
Livestock
Products
45%

Which among the following sectors together make the central angle as 75.6°?



Options :
| % Nursery Crop and Livestock & Miscellaneous

, % Fruitand Vegetable Crop and Field Crop
3« Aquaculture and Field Crop

4 % Nursery Crop and Field Crop

Question Number : 56 Question Id : 97675522082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



MHRIT IS 91 &1 AMYdD T HY 3R 4T T Yl & IR G|

gei fedn T urg, 91 ay 20-2019 P 70 T el 9¢ 3d1G
(GDP) ¥ faft wruffie &=l & giTe™ &I e axdl e
GG B 5 S AR 72000 = BAG

el &I el
STellar &hie 14%

frafafad fdeeal # T SF-T 87 U 91y 75.6° BT Ha g & 1uf Hidd s g2
Options :

L% TR B (Nursery Crop) 3R BEICEI ug fafay (Livestock & Miscellaneous)



, » d Ud sl bl BT (Fruit and Vegetable Crop) 3R Td I BHT (Field Crop)
3 @ Ay @fﬁ (Aquaculture) 3R Wd & Had (Field Crop)

4 % T A (Nursery Crop) R W Pl BUd (Field Crop)

Question Number : 57 Question Id : 97675522083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Observe the given tabular data and answer the following question.

Weight in kg |40 |42 |34 | 36 | 46
No.ofgirls | 6 | 6 |15|14| 7

Identify the statement that is correct from the given options.
Options :

1. % median < mode < mean

> ®% mean < median < mode

3 % mean < mode < median

4+ mode < median < mean

Question Number : 57 Question Id : 97675522083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

feu o wioiiag Ser o gl & 3R Mufiied Uy $13m S|

asfel kg # |40 |42 (34|36 |46
osfhar hr d&ar| 6 | 6 |15|14 | 7

fou U fmedl # U Ug1 U J1d B

Options :

| HIEO®] < Jgad < I

, x I < HIEHH] < Tgad
, x T < TgAD < A HD]

4 v J5q® < AP < HIH

Question Number : 58 Question Id : 97675522084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Bar Graph shown below is the outcome of the survey of colours of cars parked in a parking lot:

: l—

-~
o
o

Blue -

Green —
|

Yellow I

On the bases of this graph write the number of cars counted in the survey.
Options :
1.« 25

) #® 32

3 & 15

g o)

Question Number : 58 Question Id : 97675522084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



i fe@man a1 IR WP Ui H Wel BRI & T & Y&l ST uRumH &

ST UG & 3MYR G2 Ga&u) § [TH] T8 BRI &) a1 ol |

Options :
1. % 25

2. P

Question Number : 59 Question Id : 97675522085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The length and the width of a cuboid are in the ratio of 4 : 3, and its height is twice its width. If the volume of the

cuboid is 9000 cm? . then what is the width of this cuboid?
Options :
1. % 25cm



7 % 20cm
3.« 15cm

4 % 40 cm

Question Number : 59 Question Id : 97675522085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U G-TH DI TaTs AR IISTs &1 0N 4 : 3 § R SUB! Hdls, SUDI TS &I SR o | TS G BT G-
0000 cm?® B, A1 59 1Y &I AlSTg fdhaH 82

Options :

1. % 25cm
7 % 20cm
3.« 15cm

4 % 40 cm

Question Number : 60 Question Id : 97675522086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The radius of the base of a cylinder is 4 m and its volume is 704 m?® . What is the height of the cylinder?

[Use 7r=:";—z]

Options :



1. % 21m
) o« 14m
3 % 10.5m

4. % 7Tm

Question Number : 60 Question Id : 97675522086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uh 90 & TR DI BoAT 4 m 3R PTG 704 m? g | 90 B Halg [ba-l gHI? [ =";—2 B IYTNT By

Options :
1. % 21m
) o« 14m
3 % 10.5m
4. % 7Tm
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Number of Questions to be attempted : 16

Section Marks : 20
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 97675522087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.

It’s midnight, and Sarah is still working. She’s be tired tomorrow.
Options :

1. ® It’s

2. % still

3. ¥ She’s

4. * tired

Question Number : 61 Question Id : 97675522087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.

It’s midnight, and Sarah is still working. She’s be tired tomorrow.
Options :

1. % It’s

2. # till

3. ¥ She’s

4. *# tired

Question Number : 62 Question Id : 97675522088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.

The shop provides baskets for the customers to put there purchases in.

Options :

1. #* provides
2. % for

3. % put

4. ¥ there

Question Number : 62 Question Id : 97675522088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.

The shop provides baskets for the customers to put there purchases in.

Options :

1. % provides
2. % for

3. % put

4. ¥ there



Question Number : 63 Question Id : 97675522089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct meaning of the following idiom from the options given below:

Shoulder to shoulder
Options :

1. # to be in dismay

2. % to live in happiness

3. ¥ to work in cooperation

4. # to rise in protest

Question Number : 63 Question Id : 97675522089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct meaning of the following idiom from the options given below:

Shoulder to shoulder
Options :

1. # to be in dismay

2. # to live in happiness

3. % to work in cooperation

4. ¥ to rise in protest

Question Number : 64 Question Id : 97675522090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct one word substitution of the given sentence from the options given below:

Study of cells
Options :
1. ¥ Cytology

2. % Astronomy



3. % Cosmology
4. ¥ Botany

Question Number : 64 Question Id : 97675522090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct one word substitution of the given sentence from the options given below:

Study of cells
Options :

1. ¥ Cytology
2. % Astronomy
3. % Cosmology
4. % Botany

Question Number : 65 Question Id : 97675522091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the INCORRECTLY spelt word from the given options.
Options :

1. % Mature

2. % Ensure

3. % Asure

4. % Manure

Question Number : 65 Question Id : 97675522091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the INCORRECTLY spelt word from the given options.
Options :

1. # Mature

2. % Ensure

3. % Asure

4. % Manure

Question Number : 66 Question Id : 97675522092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the INCORRECTLY spelt word from the given options.
Options :

1. #* Volunteer

2. ¥ Responsebility

3. # Immediately

4. % Receipt



Question Number : 66 Question Id : 97675522092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the INCORRECTLY spelt word from the given options.
Options :

1. % Volunteer

2. ¥ Responsebility

3. # Immediately

4. ¥ Receipt

Question Number : 67 Question Id : 97675522093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the given dialogue and then select the most appropriate idiom connected with the communication problem.

Mrs. Brown: Honey, I paid 35,000 only. Isn’t that awesome?

Mr. Brown: So, you paid 35,000 for a meal in that eatery! That’s really too much.

Mrs. Brown: Oh God! You are just impossible. I paid that for the room charges, not the meal.
Mr. and Mrs. Brown seem to be

Options :

1. ¥ talking at cross-purposes

2. * at each other’s throats

3. # talking behind each other’s back



4. # seeing eye to eye

Question Number : 67 Question Id : 97675522093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the given dialogue and then select the most appropriate idiom connected with the communication problem.

Mrs. Brown: Honey, I paid 35,000 only. Isn’t that awesome?

Mr. Brown: So, you paid 35,000 for a meal in that eatery! That’s really too much.

Mrs. Brown: Oh God! You are just impossible. I paid that for the room charges, not the meal.
Mr. and Mrs. Brown seem to be

Options :

1. ¥ talking at cross-purposes

2. * at each other’s throats

3. # talking behind each other’s back

4. # seeing eye to eye

Question Number : 68 Question Id : 97675522094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank by choosing the most appropriate option:

Upon seeing their father at the door, the children let out a of delight.
Options :

1. ¥ groan



2. # sigh
3. % scream

4. % wail

Question Number : 68 Question Id : 97675522094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank by choosing the most appropriate option:

Upon seeing their father at the door, the children let out a of delight.

Options :

1. # groan
2. % sigh
3. ¥ scream

4. % wail

Question Number : 69 Question Id : 97675522095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the best option which can be substituted for the given expression.

Killing of a race or mass of people
Options :

1. #* Homicide

2. ® Suicide

3. % Genocide

4. % Patricide

Question Number : 69 Question Id : 97675522095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the best option which can be substituted for the given expression.



Killing of a race or mass of people
Options :

1. * Homicide

2. ® Suicide

3. % Genocide

4. % Patricide

Question Number : 70 Question Id : 97675522096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the opposite of the given word.

Indispensable
Options :

1. ¥ Unimportant
2. # Essential

3. % Vital

4. # Imperative

Question Number : 70 Question Id : 97675522096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the opposite of the given word.

Indispensable
Options :

1. ¥ Unimportant
2. % Essential

3. # Vital

4. # Imperative

Question Number : 71 Question Id : 97675522097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Choose the word from the options that is closest in meaning to the given word.

Whimsical
Options :
1. # Standard
2. % Regular
3. % Cheerful
4. ¥ Fanciful

Question Number : 71 Question Id : 97675522097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word from the options that is closest in meaning to the given word.

Whimsical
Options :
1. # Standard
2. # Regular
3. % Cheerful
4. ¥ Fanciful

Question Number : 72 Question Id : 97675522098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S1 and S6 are the first and last sentences respectively. Select the option that gives the correct order of the sentences P,Q,R,S to form a meaningful
paragraph:

S1. Nature writing is nonfiction or fiction prose or poetry about the natural environment.

P. Nature writing encompasses works, that emphasise natural history facts and those in which philosophical interpretations predominate.
Q. In addition, this writing also heavily draws on scientific information and facts about the natural world.

R. Such factual and philosophical writing includes natural history essays as well as travel and adventure writing.

S. This same scientific information is reflected in modern nature writing.

S6. However, the focus of this modern nature writing seems to have shifted a little.

Options :



1. ¥ PRQS
2. % QPRS
3. % SRQP
4. % SRPQ

Question Number : 72 Question Id : 97675522098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S1 and S6 are the first and last sentences respectively. Select the option that gives the correct order of the sentences P,Q,R,S to form a meaningful
paragraph:

S1. Nature writing is nonfiction or fiction prose or poetry about the natural environment.

P. Nature writing encompasses works, that emphasise natural history facts and those in which philosophical interpretations predominate.
Q. In addition, this writing also heavily draws on scientific information and facts about the natural world.

R. Such factual and philosophical writing includes natural history essays as well as travel and adventure writing.

S. This same scientific information is reflected in modern nature writing.

S6. However, the focus of this modern nature writing seems to have shifted a little.

Options :

1. ¥ PRQS
2. % QPRS
3. ¥ SRQP
4. % SRPQ

Question Number : 73 Question Id : 97675522099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts to form a meaningful sentence:

P. the seventy delegates

Q. received by the Prime minister
R. from European countries

S. were cordially

Options :
1. % PQRS
2. % PSQR



3. ¢ PRSQ
4. % PSRQ

Question Number : 73 Question Id : 97675522099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts to form a meaningful sentence:

P. the seventy delegates

Q. received by the Prime minister
R. from European countries

S. were cordially

Options :

1. # PQRS
2. % PSQR
3. ¥ PRSQ
4. % PSRQ

Question Number : 74 Question Id : 97675522100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct option to improve the underlined segment in the following sentence. If no improvement is required, select ‘No improvement’.

Why does Rohan and his brother come to see you?
Options :

1. ¥ did

2. % done

3. % doesn’t

4. ¥ No improvement

Question Number : 74 Question Id : 97675522100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the correct option to improve the underlined segment in the following sentence. If no improvement is required, select ‘No improvement’.

Why does Rohan and his brother come to see you?
Options :

1. ¢ did

2. % done

3. % doesn’t

4. # No improvement

Question Number : 75 Question Id : 97675522101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part, which may improve the sentence. If no improvement is required, select ‘No improvement’.

The significant attribute deeply ingrained in Abraham Lincoln was extreme honesty.
Options :

1. #* ingrained with

2. * ingrained to

3. * ingrained for

4. ¥ No improvement

Question Number : 75 Question Id : 97675522101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct alternative to the underlined part, which may improve the sentence. If no improvement is required, select ‘No improvement’.

The significant attribute deeply ingrained in Abraham Lincoln was extreme honesty.
Options :

1. * ingrained with

2. % ingrained to

3. % ingrained for

4. ¥ No improvement

Sub-Section Number : 2



Sub-Section Id : 9767551403
Question Shuffling Allowed : Yes

Question Id : 97675522102 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the given passage and answer the questions based on it.

Kerala is probably one of the prettiest, least polluted and the greenest destinations in India that allures travellers from all across the globe. The
state is home to some gorgeous hamlets and towns that are still unexplored and well hidden from a traveller’s eyes. One such incredibly beautiful
place in Kerala is Kallar which looks no less than a painting. This picturesque town is located en route to Ponmudi from Trivandrum and is quite
a rage among picnickers, birdwatchers and trekkers who reside in nearby areas.

Kallar gets its name from the River Kallar that runs through the region.

This tiny town in Trivandrum will stun you with its gorgeous water bodies and lush green fields. A number of nature lovers and birdwatchers
visit it to spot birds in their natural habitat. Because not many people are aware of this pretty town, the place makes for an ideal offbeat
destination to visit in Kerala. If you have a thing for untouched and undiscovered places, then Kallar will definitely impress you with its silence,
greenery and tranquillity.

Though there is not much to see in this town, there are a few famous spots nearby that can be explored, namely the Golden Valley, Kallar Bridge
and Meenmutti waterfall. The Golden Valley can be easily reached from town and is a beautiful spot where people can enjoy a dip in the clear
waters of the stream flowing here.

Then there’s the small yet captivating Meenmutti waterfall which is about 3 to 4 km from the town. The entire surrounding region of the waterfall

is home to a wide variety of birds and colourful butterflies. It’s one of those amazing places where you can sit in solitude and enjoy a
conversation with nature.

Sub questions

Question Number : 76 Question Id : 97675522103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that completes the following statement correctly.

According to the passage Kallar is:

Options :

1. # famous for innumerable tourist sites

2. % not yet a very popular tourist place

3. #* the only place in Kerala to have a waterfall

4. % Kerala’s only tourist attraction



Question Number : 77 Question Id : 97675522104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that completes the following statement correctly.

The town of Kallar is located:

Options :

1. ¢ on the way from Trivandrum to Ponmudi.

2. % between Kallar Bridge and Meenmutti waterfall.
3. ® between Golden Valley and Trivandrum.

4. ® in the Golden Valley.

Question Number : 78 Question Id : 97675522105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What kind of tourist may NOT want to visit Kallar?
Options :

1. ® One who loves nature and birds

2. % One who loves serenity and calmness

3. % One who wants a lot of action and excitement
4. ® One who likes offbeat places

Question Number : 79 Question Id : 97675522106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What activity can a tourist enjoy in the Golden Valley?
Options :

1. # Bird watching

2. % Butterfly watching

3. % Conversation with travellers

4. ¢ Bathing in a stream



Question Number : 80 Question Id : 97675522107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Kallar, which looks no less than a painting’ means:
Options :

1. # Kallar looks less beautiful than a painting.

2. % paintings of Kallar look more beautiful.

3. ¥ Kallar looks as beautiful as a painting.

4. % there are very few paintings of Kallar.

Question Id : 97675522102 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the given passage and answer the questions based on it.

Kerala is probably one of the prettiest, least polluted and the greenest destinations in India that allures travellers from all across the globe. The
state is home to some gorgeous hamlets and towns that are still unexplored and well hidden from a traveller’s eyes. One such incredibly beautiful
place in Kerala is Kallar which looks no less than a painting. This picturesque town is located en route to Ponmudi from Trivandrum and is quite
a rage among picnickers, birdwatchers and trekkers who reside in nearby areas.

Kallar gets its name from the River Kallar that runs through the region.

This tiny town in Trivandrum will stun you with its gorgeous water bodies and lush green fields. A number of nature lovers and birdwatchers
visit it to spot birds in their natural habitat. Because not many people are aware of this pretty town, the place makes for an ideal offbeat
destination to visit in Kerala. If you have a thing for untouched and undiscovered places, then Kallar will definitely impress you with its silence,
greenery and tranquillity.

Though there is not much to see in this town, there are a few famous spots nearby that can be explored, namely the Golden Valley, Kallar Bridge
and Meenmutti waterfall. The Golden Valley can be easily reached from town and is a beautiful spot where people can enjoy a dip in the clear
waters of the stream flowing here.

Then there’s the small yet captivating Meenmutti waterfall which is about 3 to 4 km from the town. The entire surrounding region of the waterfall
is home to a wide variety of birds and colourful butterflies. It’s one of those amazing places where you can sit in solitude and enjoy a
conversation with nature.

Sub questions

Question Number : 76 Question Id : 97675522103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that completes the following statement correctly.



According to the passage Kallar is:

Options :

1. # famous for innumerable tourist sites

2. ¥ not yet a very popular tourist place

3. # the only place in Kerala to have a waterfall

4. ® Kerala’s only tourist attraction

Question Number : 77 Question Id : 97675522104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that completes the following statement correctly.

The town of Kallar is located:

Options :

1. ¥ on the way from Trivandrum to Ponmudi.

2. # between Kallar Bridge and Meenmutti waterfall.
3. # between Golden Valley and Trivandrum.

4. % in the Golden Valley.

Question Number : 78 Question Id : 97675522105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What kind of tourist may NOT want to visit Kallar?
Options :

1. # One who loves nature and birds

2. % One who loves serenity and calmness

3. % One who wants a lot of action and excitement
4. % One who likes offbeat places

Question Number : 79 Question Id : 97675522106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What activity can a tourist enjoy in the Golden Valley?
Options :

1. # Bird watching

2. % Butterfly watching

3. # Conversation with travellers

4. ¥ Bathing in a stream

Question Number : 80 Question Id : 97675522107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Kallar, which looks no less than a painting’ means:
Options :

1. #¥ Kallar looks less beautiful than a painting.

2. % paintings of Kallar look more beautiful.

3. ¢ Kallar looks as beautiful as a painting.

4. % there are very few paintings of Kallar.
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Question Number : 81 Question Id : 97675522108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hd THaaH | TIad G arell Tek o-
Options :

1. % B

2. % JHMNER

3. % a=H

4. ¢ Herdl

Question Number : 81 Question Id : 97675522108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ted Uhaa & Tgad g aTal 2eg 8-
Options :

1. % g

2. % FHAMER

3. % a9

4. ¢ gelUdl

Question Number : 82 Question Id : 97675522109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

B 3T TR I STE | 1o § '§H D IH-91 UG 82
Options :

1. % A¥IH IYardd qa-1d

2. ¢ ITH YINAEH qaH

3. % 3] IYArad Ja-H

4. % (A9dTE® JaH

Question Number : 82 Question Id : 97675522109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3151 TR I STE | e § 81 DIH-91 UG 82
Options :

1. % AH Y3Ydrad qa-H

2. ¢ ITH GINATEad a4

3. % 3 [IYAr® qa4H

4. % fASEES gdIH

Question Number : 83 Question Id : 97675522110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MAE & fod B A YU e | a1 8§ H1d &1 9 8-
Options :

1. ¢ YT Hidw et

2. % 3l YdHId

3. % WY HidS BT

4. ® Ul YdPb1a

Question Number : 83 Question Id : 97675522110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

MAE & fod B A YU e | a1 § w1 61 9 8-
Options :

1. ¢ YT Hidw et

2. % 3l YdHId

3. % WY HidS BT

4. ® Ul YdPb1a

Question Number : 84 Question Id : 97675522111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR 3T &S |Id, O T 3a=d gidt | a1 § gy &7 4G &-
Options :

1. ¢ bl it

2. % SAAgAD i

3. % 3Ty i

4. % QIS

Question Number : 84 Question Id : 97675522111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R 319 oIS &4, df od 31 gl | areg | gy &1 1S ©-
Options :

1. ¢ dpari® gha

2. % SRS il

3. % 3T g

4. % FrEigde I

Question Number : 85 Question Id : 97675522112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3 UM TR & IUYdT [ UHR & a1ad H 8id 82
Options :

1. ® I dI

2. ¢ Agad aIR

3. % By gty

4, % OGS IR

Question Number : 85 Question Id : 97675522112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& I ¥R & I9aTH [ YR & a1 H gid g2
Options :

1. # ORI dI]

2. ¢ Ggad IR

3. % foy are

4. % TSI qTR

Question Number : 86 Question Id : 97675522113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore aTerRr § Uep U SR U A1 U W SHf¥es M3 IuaTed B, 39 1 H5d 67
Options :

1. ¢ foy 9

2. ® FYad I

3. % ORI dIH

4. % gl dixg

Question Number : 86 Question Id : 97675522113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5T a7 & T YU 3R U 1 T A 3 MY IuaTe 8, 3 T H8d 82



Options :

1. ¢ Ty 9

2. % Igod qIR
3. % WA dIH
4. % Jgldh dIdg

Question Number : 87 Question Id : 97675522114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRed # § SF-91 a1a s /7
Options :

1. ¢ G W 30 TS B

2. % TEFT AT gHI§ |

3. % gg 3fUSi 6] §Id Gl |
4. % TYT 3(UT H1H B forar|

Question Number : 87 Question Id : 97675522114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied o @ ®F-91 916 3RS 82
Options :

1. ¢ T W A TS B

2. % BT A IHIE |

3. % g SfUSil T8l dic bl |

4. % HYTH U] HTH DR feraT|

Question Number : 88 Question Id : 97675522115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hgard H foear |

Options :



1. % g 3R HHHD gial &
2. % PHad GHHDB eI &
3. ¥ $Id IHHD St &
4. % U P AR BT §

Question Number : 88 Question Id : 97675522115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Yaarea dfoear |

Options :

1. % Gt 3R febrich et @

2. % o GHHd gl ¢

3. ¥ $ad AHUSD Il §

4. % HH B FTIR B &

Question Number : 89 Question Id : 97675522116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2T O HH-91 Ygad 16 gl 87
Options :

1. % I AT 3R T <Ial T

2. % T8 3 B 8Y, 7 S &1 A |

3. ¢ 98 Hgdl & [ T & TS|

4. % &b ST 3R TSP UgH T

Question Number : 89 Question Id : 97675522116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S0 9 HH-91 Ugad d1ed g 87
Options :

1. % H 317 3R 1 Il |




2. % 35 3 BT gY, 7 I & WM |
3. ¥ 98 dedl g [& H Hd TS
4. % &1 ST 3R TSP UgH T

Question Number : 90 Question Id : 97675522117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR eq], AT SUTT TR & Sid I--41 Fag Ugad gidl 67
Options :

1. % 3R fIg

2. % dfaRm

3. % Uyfag

4. ¢ O g

Question Number : 90 Question Id : 97675522117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FHMTIIHRUT Xeq!, AT 31aT a1 & St D IF-91 oI TR gial 82
Options :

1. % 3R g

2. % 3feffaRTm

3. % gyfig

4.« G g

Question Number : 91 Question Id : 97675522118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3y fag HH-AT 82

Options :

I

2. %



3.5
4, %)

Question Number : 91 Question Id : 97675522118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3y g AT R?

Options :

I A

2. %

3%

4. %)

Question Number : 92 Question Id : 97675522119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEt R 5 1 g &1 e 1 9 fobw A & aififed fpan sar g
Options :

1. % Tl fg

2. ¢ faRaeiys fag

3. % 94 fIg

4, % JcUfaRTH

Question Number : 92 Question Id : 97675522119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEct o o 1 g &1 e & 9 fooe A & oififgd fosar S 5
Options :

1. % gl foIg

2. ¢ faRyamEiys® g

3. % @Uq (g



4. % 3[R

Question Number : 93 Question Id : 97675522120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrofifad & 9 H1-91 e &1 9 T8 82
Options :

1. ¢ GHIGTEIAD U&l

2. % HIIIYD Uef

3. % (gdeas ual

4, % TS U&l

Question Number : 93 Question Id : 97675522120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FofRed & 9 $1F-91 Ug &1 3G el o7
Options :

1. ¢ GHIGTEIIdeh &l

2. % FAdSIUD G&l

3. % fYQIdmEIde va

4. % INNIIAD T8

Question Number : 94 Question Id : 97675522121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JAG UGW AR W el A1 ¥Tifohd Ueg o1 Tl Wsg Rad i & HRkT|
Options :

1. % gl

2. % TSP

3. ¢ qIferepT

4. % &t



Question Number : 94 Question Id : 97675522121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dAG UGW AR [ 3! 1 ¥Tifohd Ueg o1 Tl Wsg Rad i & 4R
Options :

1. % §=dl

2. % TSHI

3. ¢ dIferenT

4. % &St

Question Number : 95 Question Id : 97675522122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & o 1 919 3w 7Y
Options :

1. % 3 S I Hed | (b3l Bl Ibid - |

2. % N g ITH R A wefi=ar B afear ut &
3. % I ST 96T, dlid §H W @

4. ¢ IR ST 1Y

Question Number : 95 Question Id : 97675522122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T 9 S 1 a1 R[S 82

Options :

1. % YA DI gl H bl I Yol 7GR |

2. % guf db ITP Wi A GRIdiar 1 9fSar gt

3. % SHTITH AT AR T, difcs §H W 3|

4. ¢ IR BT 1Y

Sub-Section Number : 2



Sub-Section Id : 9767551405
Question Shuffling Allowed : Yes

Question Id : 97675522123 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

fRfafad Tery & YR o Ul & g8t IR S|

qgfr Sfta & +ff §E-fa-ile & 31 a1 §lel] & | farfie qoherdl &1 Hofl 1 STy ST fob Ueh g ot Wifereh SiTel & Fofe11 At €ietl
&, I TR 1 3T AeTaTe Afad Tal 8idT 8 | e W sUHE Afad SaTal YHTd STl g | SR T T8 TTED| P G DY, A
f¥ept % a1 B, HTOr & siareil & Y R SU-T 3R Wid a1 8| Th TR WA AITTBR BT U ghH IR fobare Tited T | T

G Bl ISR 514 ghIMaR U UBT o T8 Bl 81 gHIMER A B8l — HA U o1 | fhRHT Fereimep? siiel fob wiad Ty G&Ih Uga?
< 1 el 7id b g Tl A1 AT | gpTaR - 99 S ¥ fobford qegpRige o T el - i, A SR b oy <ars s &, e
3T UAH TS Pl ST T Ugd, Wb ¢ a2 39 IR I fopfei e gl |

Sub questions

Question Number : 96 Question Id : 97675522124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 TR o fo Iferdt e © -
Options :

1. % HiiecddpR it

2. ¢ foFIg & I adl &1 ol §

3. % g4 - foHig &1 U4TE - g9vE

4. % Sffad o Sterdl &1 Rigid

Question Number : 97 Question Id : 97675522125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et fopdl el & SR fopdl =18t et

Options :

1. % O fob @i 1 e § iR ghMaR &I el |
2. % g1 D! el & SR Sidl B! Tl |



3. % fY5gR gad arel ! et § 3R YraX A a1l &l gl |
4. T Sfaa Y et 8 ok TR a1 33T safad &t et |

Question Number : 98 Question Id : 97675522126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Q&b UghR o o o Ty, fobe, fberd e
Options :

1. ¢ igdHR A GHMGR J gl |

2. % GPHMER A HgdPR Y HgT|

3. % 59 49 Afad A 1R safda I &

4. % 9GP - UED 4 Hgll

Question Number : 99 Question Id : 97675522127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I Afad & gy # Fafifad & § oF-91 2 98l 761 82

Options :

1. % AR H 98 AEH| ! G HR, STl f9eh! X adi g |

2. ¢ Yifae SATd | a8 THR a1 w311 Jevmard fad ¥ el 9% d el gl
3. % YTOT F Siarefl &1 grY R U 3R Wi AT ]

4. % I W TIYW Afad SA1G1 UM ST & |

Question Number : 100 Question Id : 97675522128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GPHMER & fbd IR T fb @i AR g1
Options :

1. % 7 d gaTg 99 & qIG WA QT |

2. % 37 9 Ry garg 99 &7l |

3. % 74 gars 99 3§ Ugd XRId|

4. ¥ F1d T ! 99 I Ugd TR gd |




Question Id : 97675522123 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

fFfRad =i & SMYR W U & Tal SR Glod|

qgfies Sita # i gEl-faia I 981 a4 8idT 7 | fa-IG Twardl 1 ot 8 | 31U 1T 3 T gag@ e Wifdies STd # i1 9w il
g, I TR 1 F 31T IgRIaTe Afad el g1l ¢ | Sexa H §UHE Afad Sa1al THTd STAdT & | ISR & 98 TEh| Bl G- B, STal
foshT R <iell &, HTWUT H STsf ) i R S{uT 3R Wi didll g | Teh IR BAITATH HIfgIBR bR Teh gobT- WR fobaire @ie | ueb
GBI IBTIR 514 GPHIFER U UBT o T8 Bl g1 gHIMER A Bl - HA UG Toi | fBHT Frenep siiel b VRigd THY T&P UGHR
<9 41 g1 7d fob T8 et a1 81 | gHHER A §8 S ¥ fhfud JRgrige & A1 &gl - STHM, 7 o o 3110 gars d9d €, 99 &
3{TU YA GdTs I, S 8 Ugd, WIhR 68 o2 39 IR Y BT e g1 |

Sub questions

Question Number : 96 Question Id : 97675522124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 T o forg I wieep ¢ -
Options :

1. ® FIigIPR fobfwefm

2. ¢ foFie & I adl &1 ol §

3. % g4 - foHig &1 U4mE - goIvE

4. % Sffad H Gtherdl o1 Rigid

Question Number : 97 Question Id : 97675522125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et fobd fhrerclt 8 8 Tl =1t firetcho

Options :

1. % WhedT [hieH B e § 3R gPHaR &l Tal |

2. % T DI fArerell © SR 4Tl bl T |

3. % 3R g a1l ! Herchl 8 3R Frax de ard &l gl |




4. « TG Afad o e § 8iR THR a1 3318 safda &1 e |

Question Number : 98 Question Id : 97675522126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

q® UgHR ¢ o o fag, foa, foraw s
Options :

1. ¢ IigAHR A GHMGR J gl |

2. % GHMER A HigdHR Y HgT|

3. % 59 49 Afaq A TR safdd O &anl

4. % 9GP - UED 4 Hgl

Question Number : 99 Question Id : 97675522127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I fad & T o Fafafed & 9 o1F-a1 v el T8t 82

Options :

1. % AR & 95 TEH| DI G B, TG b1 I AT 5|

2. « Hifde ST § g 7R a1 F3{iar Jevmard dfed ¥ el 9% d el aidll
3. % YToOT H Siarefl &1 g R 3UAT 3R Wi A1 ]

4. % I W IYW Al SATG1 M1 ST ¢ |

Question Number : 100 Question Id : 97675522128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HTER & fohg IR T B AR 81 T
Options :

1. ¥ 1d GATs 99 & §Ig WHR GE T |

2. % 379 Ry garg 9d &l |

3. % 74 gars g9 3§ Ugd XRId|

4. ¥ 1 d GdTg ! 99 I Uga TR gd |




Disciplinel

Group Number : 6

Group Id : 976755777

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 9767551207

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 9767551406

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 97675522129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following is not a cause of incidents due to poor housekeeping?
Options :

1. * Slipping on greasy, wet or dirty surfaces



2. # Tripping over loose objects on floors, stairs and platforms
3. % Striking against projecting, poorly stacked items or misplaced material

4. ¥ Stacking of files in an order

Question Number : 101 Question Id : 97675522129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 7 § B9 TRI9 IS & BRI S arel) Ter3i BT BRI TE) 82
Options :

1. % fores=, i a1 7id) Fdgl W e

2. % Rl il 3R W™ R Srafeyd Ul axgsl R dsEsHI|

3. % T, TTAd dRd I TWT g3 avgS A1 T RIM WR ! g% I § ST
4. ¢ U o0 T BTSal ol o |

Question Number : 102 Question Id : 97675522130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is not considered as a responsibility of good housekeeping program?
Options :

1. # Clean up during the shift

2. ¥ Dumping of unused materials

3. # Day to day cleanup

4. ® Inspection to ensure cleanup is complete

Question Number : 102 Question Id : 97675522130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P & 3 5 srst greuaiftn g &t foreRt & wu & =gt AT Sf1ar 82
Options :

1. % f39e & SR AHIS BT

2. ¢ 3RS ATl BT (U 6T




3. % gfafes IwE HAT
4. % hTg Y B o fore Ftermr s

Question Number : 103 Question Id : 97675522131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the benefit of good housekeeping practices?

Options :

1. ¥ Reduced property damage by improving preventive maintenance
2. # Unhygienic conditions due to poor maintenance

3. # More janitorial work

4. % Increased fire hazards

Question Number : 103 Question Id : 97675522131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfafad § @ SH-T1 3] SISUBIT 31T T o1H 82
Options :

1. ¢ (IR SREU T YYR HReb YURI & ThAH & Bl
2. % WX WA & HRUN g RYfagi

3. % 3P JURS H1d

4. % U Tdhe A gfg

Question Number : 104 Question Id : 97675522132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not included in the plan written by disposal group leader?
Options :

1. ® Waste characteristics

2. ® Site characteristics

3. # Regulatory permits and approvals



4. ¥ Number of fire extinguishers

Question Number : 104 Question Id : 97675522132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e THE & SA1s gRT farfd aier & fufifed & ¥ - wnfie el grar g2
Options :

1. % 3MURY 3ifHeeom

2. % Hrgc Mg

3. % fame® oAl 3R sHeA

4. STURHD] BT LA

Question Number : 105 Question Id : 97675522133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is not a characteristic of hazardous material?
Options :

1. # Ignitability

2. % Corrosivity

3. # Toxicity

4. ¥ Responsive

Question Number : 105 Question Id : 97675522133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEARIRIT O ¥ HH-3 Yheord ATt &1 [a=Iwdr 761 82
Options :

1. % godeigd

2. % HeRapdl

3. % fauTeRTd

4. ¥ 3fhUTHD




Question Number : 106 Question Id : 97675522134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The heading written in black letters on a yellow background and is preceded by the safety alert symbol is a
Options :

1. % Warning sign

2. % Caution sign

3. ® Notice sign

4. % General safety sign

Question Number : 106 Question Id : 97675522134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

diel 7 B gEYR W BT 31eRT H forar mar hifer 3k ST UgA Rem ua Rigadud QTR
Options :

R ACGICEIRES

2. ¢ Ay g

3. % g g

4. % AT ReA g

Question Number : 107 Question Id : 97675522135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not Recommended Actions for Handling and Disposal of Carcasses During Burial and Landfill of noninfectious
material?

Options :

1. # Avoid free liquids by using absorbent material
2. % Minimize odors with quick efficient handling
3. % Bury as soon as possible

4. ¥ Monitor air for presence of bacteria



Question Number : 107 Question Id : 97675522135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e § P TR-Thme Il & S 3R Y 4R19 &S SR Udl &) T 3R Fdem & e sr=ifd o T2 81
Options :

1. % NYD AU HT ITANT FXb ol R Uardl o S-1|

2. % IR HIE 8 ST & 1Y Y B HH HRAT

3. % fa-t STeg! YYd gl AT HAT|

4. ¢ IR o1 IUfRUFT & forw gaT 1 et a1 (R-teror s |

Question Number : 108 Question Id : 97675522136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The symbol drawn within a black equilateral triangle which can also include yellow background indicates?
Options :

1. ¥ Hazard alerting

2. % Mandatory action

3. # Prohibition

4. % Information

Question Number : 108 Question Id : 97675522136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T BT THETE By & HiaR @i mar udies forgs et gguyfy +ff wnfirer € geodh &, v & @ 59 Sig s 22
Options :

1. ¢ Hebe Bl TdiaHt

2. % 3ffrard fopan

3. % fAmy

4. % QI

Question Number : 109 Question Id : 97675522137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
NEC stands for:

Options :

1. #® National Environmental Code

2. ¥ National Electrical Code

3. # National Electrical Control

4. ¥ National Environmental Control

Question Number : 109 Question Id : 97675522137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NEC H1 Ul wu A dd /182

Options :

1. ® National Environmental Code (AR S-A-HCd HIg)
2. ¥ National Electrical Code (ARId 3aifdgdhd i)

3. # National Electrical Control (ﬁw gd ﬁg Hd & g\l o)

4. % National Environmental Control (ﬁw Wﬁ@ﬁ)

Question Number : 110 Question Id : 97675522138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The square (or rectangular) surround shape is typically used to convey equipment location, places of exit, and permitted actions indicates
Options :

1. # Hazard alerting

2. # Mandatory action

3. % Prohibition

4. ¥ Information

Question Number : 110 Question Id : 97675522138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TR @ ATAADBR) TRT AR J URTG 3Mp i, FITHT ST AHRI: SUHI0 R, 916R FHdhe o RIF 3R 3IHd Sl & v o
g & e foran Siran ], o $Rd et 82

Options :

1. ® T oI Aqa-t

2. % e fopan

3. % {99y

4. I

Question Number : 111 Question Id : 97675522139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following would be the most likely indication of an electrical circuit overload?
Options :

1. # Notification by OSHA

2. % Noise at the switch board

3. % Breaker tripping and shutting off all the power

4. # Burnt hands

Question Number : 111 Question Id : 97675522139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied & § ®F-41, faggd uRuy AR (SiaRdrs) &1 Tew JHTdd Yobd g

Options :

1. % OSHA GRT eI

2. % RegSis | @l

3. ¢ faaiee (da3) fou 81T 3R I fareteft sig 8Y o
4, % S GUBY

Question Number : 112 Question Id : 97675522140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Identify the procedure which protects the electrician from accidental or unanticipated instrument startup.
Options :

1. # Tagging the tool before use

2. % Comply with the globally harmonized system

3. % Constant monitoring of instrument

4. ¥ Lockout / tagout procedures

Question Number : 112 Question Id : 97675522140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 Ufehal 1 UgaM SISl SAa RIEH BT SHTH RS a1 TR 70 J fhdl 39 & wIe 30 I s3]
Options :

1. % JUART R Y Ud ¢ &l T AT

2. % Iy QrHSRaYUl YOIttt T UTeid H=e1

3. % I3 ot FRAR AR

4. & TIBH3IMNIT / ST3TIC UfHUTT

Question Number : 113 Question Id : 97675522141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Large, silver extinguishers that are filled with ordinary tap water with two third of the way and then pressurized normal air are:
Options :

1. #® Carbon dioxide extinguishers

2. % Air pressurized water extinguishers

3. # Dry chemical extinguishers

4. ® Midair hassled extinguishers

Question Number : 113 Question Id : 97675522141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g3, e if=mys S 9= a0 & o7 9 Gl fagme 4T R 8id 8 iR fsr grar=g ga1 § arfed fsu omd €, 3 a8l

Options :



1. % PIa- TSRS JATHD
2. ¥ I GIied Sy SHORMHD

3. % e I RS

4. % TSR gy RS

Question Number : 114 Question Id : 97675522142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct sequence of use of a fire extinguisher.

Options :

1. # Pull the pin-squeeze the top handle-aim at the base of fire-sweep from side to side
2. % Aim at the base of fire-pull the pin-sweep from side to side-squeeze the top handle
3. # Aim at the base of fire-pull the pin-squeeze the top handle-sweep from side to side

4. ¥ Pull the pin-aim at the base of fire-squeeze the top handle-sweep from side to side

Question Number : 114 Question Id : 97675522142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STUTHS T3 & IUANT & ol HH P T HIoT|

Options :

1. % U9 ol Wi - 2 S5 P gam - 3T & SMYR R M @Y - U6 RB W IR RB dP [SSH1a B
2. % NP SMYR W M= T - fOF B Wi - T RB GO P dh [SSHhId DY - Y g8 ! gad
3. % 3T & YR W A=A e - O &1 Wi - 3 850 DI ST - Th IRB Y gARI IR dh [SSHId B
4.« A DG - 3T F YR R FRIAT T - Y 88T BT TAME - U RE Y GIR] IR dP [SSHId By

Question Number : 115 Question Id : 97675522143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As per BIS standerds 1:Y (Y>1) is a:
Options :

1. ¥ Reduced scale



2. # Enlarging scale
3. # Full size scale
4. ® Lath scale

Question Number : 115 Question Id : 97675522143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

F1eMEEy (BIS) AF®I & R 1Y (Y>1)TH Bl
Options :

1. ¢ TgPpd AT (Reduced scale)

2. % CQM‘% BEICH (Enlarging scale)

3. % U THIY YHMT (Full size scale)

4. % QY YA (Lath scale)

Question Number : 116 Question Id : 97675522144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Representative Factor (R.F) is:

Options :

1. ¥ Length of an object on the drawing over actual length of object
2. ® actual length of object over Length of an object on the drawing
3. # One over Length of an object on the drawing

4. ® One over actual length of object

Question Number : 116 Question Id : 97675522144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fOSiefed Thaex (R.F) T BlAT 82

Options :

1. ¢ ol o B STET TR AETS 1 a%g ! ARd1de diaTs o SUTd
2. % {Hdl avq ! IRATAD TR BT ST WX a¥g DI AaTg § T




3. % U Bl ST R I B ddTs I U
4. % UH B a%g DI dRATAD Qg o U

Question Number : 117 Question Id : 97675522145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The relation between the dimension on the drawing and the actual dimension of the object is mentioned numerically is:
Options :

1. ¥ Engineer scale

2. % Plane scale

3. ® Vernier scale

4. ¥ Comparative scale

Question Number : 117 Question Id : 97675522145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e TR fquTaefi 3fR avq &1 arafad famrsii & dia & dee o WS = ¥ Ifcarad foar o, Fefafad o 9 &1 Heardl 82
Options :

1. ¢ SofifAER EICH (Engineer scale)

2. % gHAA UHHT (Plane scale)

3. % iR 99T (Vernier scale)

4. % JAIIHD AT (Comparative scale)

Question Number : 118 Question Id : 97675522146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match List-I with List-II and select the correct answers using the codes given below.

LIST -1 LIST -2
A. Class Bricks 1. Ground Moulded and burnt in clamps.
B. Class Bricks 2. Over Burnt bricks with dark color
C. Class bricks 3. Ground moulded and burnt in kilns

D. Class bricks 4. Table moulded and burnt in kilns



Options :

1. # A-4,B-2,C-3,D-1
2. ¥ A-4,B-3,C-1,D-2
3. % A-3,B-4,C-1,D-2
4. % A-2,B-1,C-3,D-4

Question Number : 118 Question Id : 97675522146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

11 B L1 ¥ A i SR e faU 70 S &1 Ui #xd §T et SR gl

1 )
gm@nﬂﬁéﬁ ﬂ?&&rmmaﬁ?a@mﬁ?rm‘ﬂél
B. fadia aoft 3t ¢ 2. TR T B1 3 TS g5 ac |
C. qarg ot et 5 3. Y TR @Tel 3R yel & quTs T8 |
D. Iy uft o1 ¢ 4. U TR T 3R Yei & qurs T3 |
Options :
1. % A-4,B-2,C-3,D-1
2.¥ A-4,B-3,C-1,D-2
3. % A-3,B-4,C-1,D-2
4.% A2, B-1,C-3,D4

Question Number : 119 Question Id : 97675522147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match List-I with List-II and select the correct answers using the codes given below.

LIST -I LIST-II
A. Poor Lime 1. Slaked Lime
B. Water lime 2. Quick Lime
C. High calcium lime 3. Lean Lime
D. Caustic Lime 4. Fat Lime
E. Hydrate of Lime 5. Hydraulic Lime

Options :



1. ®* A-3,B-1,C-2,D-4,E-5
2. % A-3,B-2,C-1,D-5,E-4
3. ¥ A-3,B-5,C-4,D-2, E-1
4. % A-3,B-4,C-5,D-1,E-2

Question Number : 119 Question Id : 97675522147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAT-1 BT -1 ¥ e S 8k = 3T T #1 &1 SudT &d g Il SR g

a1 Tl 11

A. 3R dIgH (Poor Lime) 1. gAT g AT AT
B. vlci (Water lime) 2. fom AT AT
C. 3d ol AT (High calcium lime) 3. 9dedl <Al
D. AT (Caustic Lime) 4. Mel AT

E. ﬂef 2l %'E@_C' (Hydrate of Lime) 5. Sldee! AT
Options :

1. % A-3,B-1,C-2, D4, E-5
2. % A3,B-2,C-1,D-5, E-4
3. v A-3,B-5, C-4, D-2, E-1
4. % A3 B-4,C-5,D-1,E-2

Question Number : 120 Question Id : 97675522148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The specific surface of cement should be:
Options :

1. ¥ not less than 2250 cm?/gm

2. % not less than 2000 cm?/gm

3. % not less than 1500 cm?/gm

4. % not less than 2200 cm?/gm



Question Number : 120 Question Id : 97675522148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dide ! fafry T GRIEINY

Options :

1. % 2250 cmz/gmﬁmﬁ
2. % 2000 cm%/gm ¥ &HH gl
3. % 1500 cm?/gm I &HH ol
4. % 2200 cm?/gm ¥ HH g1

Discipline2
Group Number : 7
Group Id : 976755778
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline2
Section Id : 9767551208
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 9767551407
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 97675522149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For under water construction which type of cement is used:
Options :

1. # Expanding cement

2. % Rapid hardening cement

3. % Quick setting cement

4. ¥ Hydrophobic cement

Question Number : 121 Question Id : 97675522149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ot & - fafor SR 3 ford TR & Wife &1 SuaiT fosa STl 82
Options :

1. % T arelt Hite

2. % f&y BRI HHe

3. ¥ Y[ e UiHe

4. % QR HiHe

Question Number : 122 Question Id : 97675522150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When drawing ellipses in an isometric drawing, the isocircle prompts of the command line sequence must be used.
Options :

1. ¥ Ellipse

2. % Circle



3. % Line
4. % Polyline

Question Number : 122 Question Id : 97675522150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fgamfce gret | didqd Wiad Iy, HHIS T 3hH b SRS U BT IuTIT fobd1 ST A1 |

Options :

Question Number : 123 Question Id : 97675522151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A View in which all three axes appear at equal 120°angles with the plane of projection is known as:
Options :

1. % Orthographic drawing

2. % Isometric drawing

3. # Oblique drawing

4. ® Perspective drawing

Question Number : 123 Question Id : 97675522151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8 T (View) T AT Sl UATUT qe & 1Y THH 120° BV IR feamE 3 §, T B § /a1 Fgard g
Options :

B ACCEAIUED g@‘[ (Orthographic drawing)

2. ¥ &mﬁﬁfﬁ 8,\131'[ (Isometric drawing)

3. % 3l TS (Oblique drawing)




4. % gy SIS (Perspective drawing)

Question Number : 124 Question Id : 97675522152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Asphalt is in colour.

Options :

1. ¥ Black or brownish black

2. % Dark Black

3. % Black or Brown

4. % Dark Brown

Question Number : 124 Question Id : 97675522152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTRIT (Asphalt) JTHIRIAT G

Options :

1. ¥ BT T 4R BT

Question Number : 125 Question Id : 97675522153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bitumen mix consisting of bitumen thinner and a inert filler is:
Options :

1. # Blow Bitumen

2. % Plastic Bitumen

3. % Straight run bitumen

4. % Bitumen emulsion



Question Number : 125 Question Id : 97675522153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

-1 A fyor, g R 9IR T oifhd TR (inert filler) & g BT 32
Options :

1. % ot fagaA

2. ¥ TR faghe

3. % e A fagm

4. % f9gA gAeRM

Question Number : 126 Question Id : 97675522154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Unequal settlement of subsoil is due to:
Options :

1. # Unequal distribution of load

2. # Varying bearing power of subsoil
3. % Eccentricity of load

4.+ All of the given options

Question Number : 126 Question Id : 97675522154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIdHal (subsoil) T HFHT HIRITU (settlement) = 7 3 forgd HRUI AT 82
Options :

1. % YR BT SRFAM fdR0r

2. % 3l P! YRG! ag fdd

3. % YR DI Il

4. ¢ feum a4t faswen



Question Number : 127 Question Id : 97675522155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the given List I with List Ilas per the defnitions

ListI List IT
A. Bearing Power of the Soil 1.The maximum Pressure that a soil can bear
without any risk of shear failure
B. Maximum Safe bearing capacity of soil 2. Excess pressure in the intensities of gross pressure after
construction of the structure to original overburden pressure
C. Allowable bearing pressure on the soil 3. Maximum pressure that can be exerted on a soil
while taking shear failure and settlement to account
D. Net pressure intensity 4. Maximum load per unit area which the soil will

resist safely without displacement.
Options :
1. ¥ A-4,B-1,C-2,D-3
2.% A-4,B-1,C-3,D-2
3. % A-4,B-2,C-3, D-1
4. % A-4,B-3,C-1,D-2

Question Number : 127 Question Id : 97675522155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 7S Tt 1 Y ST uRHTTST & SER T 11 & 1Y A i |

ol I Tl 11
A. &l & g Xfad 1. 3B TH G1d Sl T GaT UYL fatherdr o Tt ot
SR & foHT 98- = Ahcll |
B. GaI & M dd JRA&A I8 &l 2. T 3Havde - Gald o [o1g W1 o HHI0T & §1
g d aId &1 digdl § e garg|

C. g&l W 331 984 a9 3. fYHAH g1 off fob STBUUT fatherdt SR deadic &I
&M H 39 §¢ Jal IR STaT I Ih<lT ¢ |

D. Y& &I <l 4. Ui SHTS & SHfUHaH YR foreT ufaRiy Tar famT
faRTT & QRiga U A ot

Options :



® A-4,B-1,C-2,D-3
¥ A-4,B-1,C-3,D-2
® A-4,B-2,C-3,D-1
® A-4,B-3,C-1,D-2

Sl

Question Number : 128 Question Id : 97675522156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is type of scaffolding?
Options :

1. # Racking

2. % Flying

3. ¥ Dead

4. ¥ Needle

Question Number : 128 Question Id : 97675522156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefad & § SH-91, 59 (scaffolding) H1 U6 UHR 82
Options :

1. % f (Racking)

2. % TS (Flying)

3. % S8 (Dead)

4. ¢ T98d (Needle)

Question Number : 129 Question Id : 97675522157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Underpinning is done at length of:
Options :

.% 1-12m



2.4 12-15m
3.% 15-25m
4. % 2-3m

Question Number : 129 Question Id : 97675522157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iUt (Underpinning) ﬁmﬁwﬁrﬂeﬂ%l
Options :

.% 1-12m

2. 12-15m

3.% 1.5-25m

4. % 2-3m

Question Number : 130 Question Id : 97675522158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To avoid the cracks in the wall of an building with settlements in existing foundation, technique is employed.
Options :

1. # Shoring

2. % Jacking

3. % Scaffolding

4. ¥ Underpinning

Question Number : 130 Question Id : 97675522158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hiolal ia § SaTc! el U SARA Bl CldR A SRR YT & [T, I BT SUINT fha1 A g |
Options :

1. % SR (Shoring)

2. % JfHT (Jacking)



3. % W%"T(Scaffolding)
4. ¢ {SAUFT (Underpinning)

Question Number : 131 Question Id : 97675522159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the metal sheets used in damp proofing does not require any coating on it?
Options :

1. ¥ Copper

2. % Aluminium

3. % Lead

4. % Both A and B

Question Number : 131 Question Id : 97675522159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST gfthT ([ Ae) H Uged uTg B fd 2 W B Hife 3 siawuedr el gl 82
Options :

1. ¥ BIR

2. % TegHIgH

3. % U8

4. % AR BTl

Question Number : 132 Question Id : 97675522160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a defect caused by dampness?
Options :

1. # Lead to corrosion of metal

2. % Promote growth of termite

3. # Deteriorate electrical fitting



4. ¥ Ground water recharge

Question Number : 132 Question Id : 97675522160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafead § 4 H19-91, 7 & HRU S aTe Y T8l 22
Options :

1. % YT BT &RUT ST

2. % &% & [dH B Jerdl

3. % TR faggd fifd

4. YOI GTHROT

Question Number : 133 Question Id : 97675522161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is post construction treatment in anti-termite treatment?
Options :

1. # Treatment of top surface of plinth filling

2. % Treatment of soil surrounding pipe

3. ¥ Treatment of void in masonry

4. % Treatment of wall trenches

Question Number : 133 Question Id : 97675522161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- Jht IaRr A Rgfefad & T oH-a1 At & Uy o SUIR 82
Options :

1. % &Y (plinth) HRUT & SHUR! Ydg Bl SUART]

2. % UIZU & U D1 fHE! BT ST=ARYI

3. ¢ T ® Rfgd ®iM &1 U=

4. ® waﬁaﬁ(trenches)ﬁw




Question Number : 134 Question Id : 97675522162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Inner surface of the arch is called as:
Options :

1. # Extrados

2. ¥ Soffit

3. % Key stone

4. ® Skew back

Question Number : 134 Question Id : 97675522162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HeRId & Hias! Fag &I =1 T 1 1 Bl Sl 62
Options :

1. % qfgy™ (Extrados)

2. ¥ HYRSq (Soffit)

3. % ™I fRret (Key stone)

4. % fq0® Y¥ ( Skew back)

Question Number : 135 Question Id : 97675522163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Inclined or Splayed surface of abutment prepared to receive the arch is called:
Options :

1. % Crown

2. % Haunch

3. ¥ Spandril

4. ¥ skewback

Question Number : 135 Question Id : 97675522163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

B 991 & U dOR U 7Y YR &Y 31=7d a1 fadep (Splayed) T8 o1 HEAdl 82
Options :

1. % I3 (Crown)

2. % gl (Haunch)

3. % WS (Spandril)

4. ¢ W (skewback)

Question Number : 136 Question Id : 97675522164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The extent of reinforcement in case of RCC Lintel depends on

A. SPAN OF THE LINTEL
B. WIDTH OF OPENING
C. GRADE OF CONCRETE

Options :

1. % Only A

2. % OnlyC

3.4 Both A and B
4. % AllA,BandC

Question Number : 136 Question Id : 97675522164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RN (RCC) fied & AT H geetdm o &t T e & F forg i Ak vt /2

A. foica &1 tharg

B. T &1 IS8
C. hhIc H1US
Options :

1. ® Had A




2. % HAAC
3. ¢ A SR BGHI
4. % A, B3R gyt

Question Number : 137 Question Id : 97675522165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Usually 15 cm deep lintels found to be safe for span upto:
Options :

1. #* 1 mlength

2. % 1.2 mlength

3. % 1.5 mlength

4. % 2 mlength

Question Number : 137 Question Id : 97675522165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR R 15 cmﬁﬁéﬁ(lintels)?ﬁwm(span)W%%EﬁTf\&lﬁqTqT\_ﬂW%?
Options :

1. % | mddrs

2.¥ 12mddTs

3. % 1.5mddans
4 ®

2m?‘ia'|_‘£:C

Question Number : 138 Question Id : 97675522166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AP el B IR R BIC Ths! & g A & fog, eq AN BIT &€, o TR @Y 3R df @I S € |
Options :

1. # 1\:l}l'q'I:IT‘;[(Nosing)

2. ¥ XS (Studding)




3. % @ (Rebating)
4. # PIYRAT (Wain-scot)

Question Number : 138 Question Id : 97675522166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the term applied to the fixing of small timber battens to timber walls, to which lathes and boards are to be nailed.
Options :
1. # Nosing
2. ¥ Studding
3. # Rebating
4. # Wain-scot

Question Number : 139 Question Id : 97675522167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the type of widening Joints from the figure shown below.

Options :

1. ® Butt joint

2. % Dowelled joint
3. # Splayed joint
4. ¥ Rebated joint

Question Number : 139 Question Id : 97675522167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

= faxamu e o ¥ args T Sige (widening Joints) & UHR &1 UgdH I

Options :

1. % §¢ 9IS (Butt joint)

2. % figdh SIS (Dowelled joint)
3. % foRfes SIS (Splayed joint)
4. ¢ WGIET NS (Rebated joint)

Question Number : 140 Question Id : 97675522168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Timber joints, a fastening which is in the form of iron clout, square and tapering, with rough sides is known as
Options :

1. # Cut nails

2. ¥ Lath nails

3. % Pins

4. ® Floor brads

Question Number : 140 Question Id : 97675522168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR Tbel & Siel §, T §% (fastening) S A1 &b RN, FMHR 3R 2uRT & U H 811 2, s Trgdt yomi 8t &, Fre 3 3 by
&Y H S e 6



Options :

1. % PIC DI (Cut nails)

2. ¢ AY DI (Lath nails)

3. % fUT (Pins)

4. % TAR a@\ﬂ (Floor brads)

Discipline3
Group Number : 8
Group Id : 976755779
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline3
Section Id : 9767551209
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551408
Question Shuffling Allowed : Yes



Question Number : 141 Question Id : 97675522169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the type of fastening (which is used in timber joints) from the figure shown below.

Options :

1. ¥ Connector
2. # Dog spike
3. # Sockets

4. ® Coach bolt

Question Number : 141 Question Id : 97675522169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 fxame U o @ §RA (fastening) F THR (ST IUTNT dha! & Sl H fobar SIdT §) &) UgaH Hifo |



Options :

1. ¢ HAGR

2. % SN WEH
3. % gldhc

4. % DI e

Question Number : 142 Question Id : 97675522170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If faced with a casualty as a result of, or in the vicinity of, dangerous high voltage electricity, do not approach, Stay at least away from
the casualty until the power has been switched off by an official agency i.e. The Electricity Board.

Options :

1. ¥ 10 meter
2. % 15 meter
3. % 25 meter
4. % 50 meter



Question Number : 142 Question Id : 97675522170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e RIS I dlees fSoTel! & URUIRGSY, I1 39 UHR & ford! A §, afe H1s geeT &1 Qi1 1 UsSdl g, df 31 1 9,
g 9 HH IR TG o1d a o fordt snfirepTives woidt srufd faete oS gRi faTelt s 7 &R < Sg |

Options :

1. % 10 AR
2. % 15HIR
3. ¢ 25 HIR
4. % 50 AR

Question Number : 143 Question Id : 97675522171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a method of artificial respiration?

a. Schaffer’s method
b. Sylvester’s method

Options :

1. # Onlya

2. % Only b
3.% Bothaandb

4. % Neither anorb

Question Number : 143 Question Id : 97675522171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofed # -1 $H 497 &t ve [y g2

a. AR B fafy
b. Redwer &1 fafd

Options :

1. ® Hdda




2. % HAA b
3.\'/aGﬁTba:ﬁ
4. % I@WaTslb

Question Number : 144 Question Id : 97675522172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Exposure to electricity can cause burns to the skin, Cool burns for a minimum of 10 minutes under cold water and do not
Options :

1. ¥ Apply ice

2. % leave damaged skin

3. % Affix dressings loosly

4. % leave damaged clothing

Question Number : 144 Question Id : 97675522172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foroTeht & Tudh T S @1 ofd Al 8, 8 UM b Sfaiid HH I HH 10 e T I U HFT B 3T BN 3R
Options :

1. ¢ 9 7 TG

2. % iR T B VW B

4. % fIRT TP P BIS S

Question Number : 145 Question Id : 97675522173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Engineers Chain, tallies are provided at every
Options :

1. % 5 links

2. % 10 links



3. # 7 links
4. % 2 links

Question Number : 145 Question Id : 97675522173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SO B, Ud® WA YeH &l ol g |
Options :

1. % 5ol

2. ¢ 10 fefp

3. % 7 fofp

4. % 2 foip

Question Number : 146 Question Id : 97675522174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For an area exceeding 250 Km? Surveying is preferred.
Options :

1. # Plane surveying

2. # Photographic Surveying

3. % Land Surveying

4. ¥ Geodetic Surveying

Question Number : 146 Question Id : 97675522174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

250Km? ¥ 31fee &3 & fore AT B AT & STl g
Options :

1. % A A&l

2. % HIHNhd Tdeur

3. % Yfiy gdefor




4. « AFTOTCT gderor

Question Number : 147 Question Id : 97675522175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the magnetic declination at a place if the magnetic bearing of Sun at noon is 186°:
Options :

1.¥ 6°W

2.% 6°E

3. % 174°W

4. % 174°E

Question Number : 147 Question Id : 97675522175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreht =T afe SueR & Ty Jd &1 a1 Ramivn 1860 8, A 39 R Jaa 1 f3aurd F1d Bif |
Options :

1.¥ 6°W

2.% 6°E

3.% 174°W

4. % 174°E

Question Number : 148 Question Id : 97675522176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these errors are classified as errors due to natural causing?
Options :

1. # Sluggish Needle

2. % Inaccurate Centering

3. % Local attractions due to proximity of local attractions

4. # Blunt Pivot Point



Question Number : 148 Question Id : 97675522176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 O S Ffea &) Uipfasw RN I g arelt Ffedt & wu A aufferd farar siar g2
Options :

1. % R Y& (Sluggish Needle)

2. % T[eId haldul

3. ¢ QMY THYUN BT Aded & BRI RIFY THYT

4. % PHq R %@ (Blunt Pivot Point)

Question Number : 149 Question Id : 97675522177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HAIA dTfere] Yetn & ST FebTd o o eIy SULNT fobam ST aret SUhvl e & & HH-31 82
Options :

1. % GHAA aRRED

2. % U

3. ¥ XA aRRAD

4. % TRe dad

Question Number : 149 Question Id : 97675522177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Instrument used to take inclined slight in a plane table survey is:
Options :

1. # plane alidade

2. % compass

3. % telescopic alidade

4. % gpirit level

Question Number : 150 Question Id : 97675522178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The Basic objective of leveling is to determine:

A. The relative of heights of different objects on the surface of the earth
B. The relative of heights of different objects below the surface of the earth
C. The heights of the object on the surface of earth

Options :

1. ® Only A

2. % Only B

3.+ Both A and B
4. % OnlyC

Question Number : 150 Question Id : 97675522178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THA B BT Hd 3239 1 e B giar 82

A. 3t o1 I8 R it aegsii ot e Sars

B. qull 1 et o +Fiel fafivel gl &1 Wrder e
C. Jdt & Hdg W I Dl SHls

Options :

1. % Had A

Question Number : 151 Question Id : 97675522179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a modern tilting level,

A. The telescope can be tilted about its Horizontal axis with help of tilting screw
B. The telescope can be tilted about its Vertical axis with help of tilting screw



Options :

1. ¥ A is True B is False
2. % A is False B is True
3. # Both A and B False
4. ® Both A and B True

Question Number : 151 Question Id : 97675522179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TYfrep fefedT dad (tilting level) T,

A. fefed % ot g 9 A1 B ISP &Sl 31& TR BTN ol Fobell & |
B. fefedtT & &1 UeTdl ¥ GRaM ®I 3P SHealeR 31&f TR FhTl o Hhal g |
Options :

.¥ ATI T B 3ATI 2|
2. % A I EBIT G
3. % A 3R BTHI 3T G|
4. % A 3RBEA IR

Question Number : 152 Question Id : 97675522180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Axis of telescope is:

Options :

1. ¥ Imaginary line passing through the optical centre of the object glass and optical centre of eye piece

2. % Imaginary line tangential to the horizontal curve of the bubble tube

3. % Imaginary line passing through the intersection of the cross hairs at the diaphragmand optical centre of object glass

4. ® Line lying on the horizontal plane

Question Number : 152 Question Id : 97675522180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



G T e |

Options :

1. ¢ TIPS & UHIRIS &g 3R AHT & THIRIG BHg § 7ol dTd! Hledi-d 38T 8ldl §

2. * gage el & Ayl g BT TR arell Bleuf~ie T 8T @

3. % ST 3R TS & THIRIG g UR 1Y 8dR & Wdwied I ToR- dTel Hledi-d <6l gidl o
4. % &S 90 W 1 @8Il §

Question Number : 153 Question Id : 97675522181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fly levelling conducted at the end of days work to connect the starting point and finishing point of that day is called:
Options :

1. ¥ Check levelling

2. # Simple levelling

3. # Differential levelling

4. # Reciprocal levelling

Question Number : 153 Question Id : 97675522181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& % S & 3fd T I foT & Lame fofg 3R U= fog o1 Sisa & o for 71U arg qafeiT (Fly levelling) 1 I RSIGIE]
Options :

1. ¢ T AdieiT

2. % U dafeiT

3. % TSR dafe

4. % IYUIhd AafeiT

Question Number : 154 Question Id : 97675522182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Depression between summits are called:



Options :

1. ¥ Saddle

2. % Valley

3. #® Vertical CIliff

4. # Overhanging CIliff

Question Number : 154 Question Id : 97675522182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RN’ & & & 3aTH (Depression) DI T Bl STl %?
Options :

1. ¥ Jsd

2. % 9rd

3. % W IgH
4. % fyeredl Tg™

Question Number : 155 Question Id : 97675522183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In reference to theodolite following statements are given:

Statement A. Theodolite is used for Measurement of Bearings
Statement B. Theodolite is used for Ranging of lines

Options :

1. # Statement A is True and Statement B is False
2. # Statement A is False and Statement B is True
3. % Statement A and Statement B are False

4. # Statement A and Statement B are true

Question Number : 155 Question Id : 97675522183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Rrarsidrge & JeH # Fafiad sy iy e g

hY- A.W@WWWW%W(Meawrement of Bearings)%%ﬁﬁﬂTW%
$WB.WWWWWG%W(Rangmg oflines)$ﬁ’l'qm\_ﬂ'ﬁ%
Options :

1. % HYTA TA G IR HYT B A §

2. % HYF A A § AR HYTB I 3

3. % BYT A AR YT B GHI 3 §

4. HYTA SR BYTB G 9 §

Question Number : 156 Question Id : 97675522184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In permanent adjustment of theodolite, spire test is done for:
Options :

1. # Adjustment of plate level

2. ¥ Adjustment of horizontal axis

3. % Adjustment of line of sight

4. ® Adjustment of altitude bubble and vertical index frame

Question Number : 156 Question Id : 97675522184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faSidse & Wt A §, RRER gdeur/sita (Spire Test) H & e fpar s g1
Options :

1. % Wi TR BT GAGSH

2. ¥ &S 31&f BT THRISH

3. % ¥ 71 BT gHRISH

4. % IAAY 9 3R SealeR TaAHIH Gl BT T

Question Number : 157 Question Id : 97675522185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Telescope normal is also referred as:
Options :

1. ¥ Bubble up

2. % Bubble down

3. # Transiting

4. % Swinging

Question Number : 157 Question Id : 97675522185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oIy Fida (Telescope normal) ® A § O fog = o +f 51 SI7en %‘?
Options :

1. ¥ ddd U

2. % ddd I3

3. % gifSif

4. % TG

Question Number : 158 Question Id : 97675522186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For rail and road surveys the permissible angular error is:
Options :

1.9 1'XsqrtN

2. % 30" XsqrtN

3.% 15" X sqrt N

4. % 20" X sqrt N where N is the number of sides of traverse

Question Number : 158 Question Id : 97675522186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



X SR T Haelvl & g S Hivfia 3fe B g
Options :

1.¥ 1'Xsqrt N

2. % 30" X sqrt N

3. % 15" X sqrt N

4, #® 20"qurtN\_S|€TNWﬁH\_F|T3ﬁaﬁH@T%

Question Number : 159 Question Id : 97675522187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Error due to eccentricity of inner axis and outer axis of theodolite can be eliminated by:
Options :

1. ® Double sighting

2. ¥ Reading both Vernier’s and taking mean of them

3. ¥ By taking mean of observations over different portion of circle

4. % By take both face observations

Question Number : 159 Question Id : 97675522187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RTSIarge & 3MiaRe 31ef 3R aTexT 3f&f Bt S &l (eccentricity) P BRI F(C B AT B § fhd GRT TATK/GR [l oI ThdT 62
Options :

|, % o rsfieT

2. ¢ G IR o1 JfET A1 3R IhT e A

3. % g & fafid YT U= Defor &7 ATed A

4. % 2 BAB| B dAIDT HIb

Question Number : 160 Question Id : 97675522188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pitch and speed of a moving stairs generally is:



Options :

1. ¥ 30° and 450 mm/second
2. % 30° and 300 mm/second
3. % 45° and 350 mm/second
4. #* 45°and 450 mm/second

Question Number : 160 Question Id : 97675522188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=ifera Wfeal & i oIk s e =1 & F Fr et 82
Options :

1. ¥ 30° 3R 450 HASHS

2. % 30° 3R 300 i AHS

3. % 45° 3R 350 i Ads

4. % 45° 3R 450 R RAHS
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Question Number : 161 Question Id : 97675522189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The inclined members which prevent the principal rafters from bending is the middle is called as:
Options :

1. ¥ Strut

2. % King post
3. ® Cleat
4. ®

Purlin

Question Number : 161 Question Id : 97675522189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{Td i (inclined members) @mmﬁaﬂaﬁgﬁ@fﬂﬁ% f=fafed o 9 =1 wgad 82
Options :

1. ¥ ¥c

2. % fHURe

3. % &ilC

4. % Uil

Question Number : 162 Question Id : 97675522190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is type of flat roof?
Options :

1. ¥ Mud terrace roofing

2. # Collar roof

3. % Scissors roof

4. # Coupled roof

Question Number : 162 Question Id : 97675522190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frafifed § 9 HIF JuTe 54 &1 UHR 82
Options :

1. ¢ gt ol &d

2. % DIR Bd

3. % Al Bd

4. % giHd &d

Question Number : 163 Question Id : 97675522191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a property of asbestos sheet roof covering?
Options :

1. % Light

2. % Need protective paint

3. # Cheap
4

. ® Fire resistant

Question Number : 163 Question Id : 97675522191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFfIfEad & ¥ oF ey e gRTBd &l HoR B &I U favdr gl 82
Options :

1. % T

2. ¥ TRETHD UT B HTIThdl

3. % T

4. % 3ty gfeRreh

Question Number : 164 Question Id : 97675522192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to National Building Code, the minimum aggregate area for openings excluding doors inclusive of frames for a room in hot-humid
climate shall not be less than

Options :

1. ¥ 1/6th of the Floor Area
2. % 1/8th of the Floor Area
3. # 1/10th of the Floor Area
4. #* 1/12th of the Floor Area

Question Number : 164 Question Id : 97675522192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Yo 0T SR dT & 3IER, TTH- 31T Siefarg # Teb AR o 7T gl Higd aXars Bl Sige’ gdH Ga HIT o g, Hef &=t
o ¥ forad o g1 g1 A1
Options :
1. ¢ T &3 BT 1/6a1 YT
2. % T & BT 1/891 YT
3. % O &F BT 1/10a1 HIT
4. % T &F BT 1/1207 YT

Question Number : 165 Question Id : 97675522193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In low cost housing construction, CSEB refers to:
Options :

1. ¥ Compressed stabilized earth block

2. % Complete stress earth block

3. # Compressed standard earth block

4. ¥ Complete stabilized earth block

Question Number : 165 Question Id : 97675522193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y AT aTdl 1A it 8§, deasst (csEB) e 8 3 o deffa sar g2
Options :

1. ¢ Compressed stabilized earth block (IS Tagvs 31 )

2. % Complete stress earth block (HUTIC T¢I 31 &ATh )

3. ® Compressed standard earth block m PETC) G{%TOT”I\T’@

4. % Complete stabilized earth block (PUTIC T KIZoS 31 ATh )

Question Number : 166 Question Id : 97675522194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per NBC, all the State Governments to incorporate and implement the latest “Fire & Life Safety” in their building bye-laws.
Options :

1. ¥ National Building Code of India 2016 Part — IV

2. # National Building Code of India 2016 Part — II

3. # National Building Code of India 2016 Part — I

4. ® National Building Code of India 2016 Part — I1I

Question Number : 166 Question Id : 97675522194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSN (NBC) & SR, Gt I BRI H1 3197 Yo I9-FoHi # Ta-ad "3{TY 3R Sia R&fm" HI A R HETad Bl




g

Options :

1. ¢ I8 Ha {07 TRl 2016 HIT - 1V
2. % TP Yo A0 Hige 2016 HFT-II
3. % PTG Yo A0 ERdT 2016 HRLI
4. % IS va FHT0T HRFdT 2016 HIT - 111

Question Number : 167 Question Id : 97675522195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ribbon can be restored in autocad by:
Options :

1. ¥ Enter ribbon in command line

2. # In display menu

3. % In file menu

4. # In option menu

Question Number : 167 Question Id : 97675522195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fftrs o e @ i 7 9 foraas g1 qAuifua fopan S Ot 82
Options :

1. ¢ HHIS 3 ¥ Re TR b

2. % & U 0 ST

3. % ed U I S

4. % fameq U T S

Question Number : 168 Question Id : 97675522196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is Principles of Building Planning where sun, breeze, outside scenery is considered?



Options :

1. ¥ Aspect
2. # Prospect
3. % Privacy
4. # Elegance

Question Number : 168 Question Id : 97675522196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR # 9 oI= 1 Ha Mo o1 Rigid & Siel 9, gaT, sTedt exal W fa=R fovar S g2
Options :

1.¥ &Iﬁ-lw (Aspect)

2. # Y (Prospect)

3. % YA (Privacy)

4. % IAOfiodn (Elegance )

Question Number : 169 Question Id : 97675522197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If you have a right . You can achieve good passive solar performance at minimal cost.
Options :

1. % Area

2. % Space

3. % Location

4. ¥ Site

Question Number : 169 Question Id : 97675522197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 3Mad el 21 < 3T YAdH ANT TR 3T HHUMT UR Iudfel U & qahd g |

Options :




1. % &7
2. % TG
3. % R
4. T

Question Number : 170 Question Id : 97675522198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which key is used to toggel the orthomode in AutoCAD?
Options :

1. % F7

2.¥ F8
3.% F9
4, % F5

Question Number : 170 Question Id : 97675522198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3iicibs H SfRITHIS 1 AT B & forw b oft b1 Iu2T bt Sirett &2
Options :

1. % F7

2.9 F8
3.% F9
4. % F5

Question Number : 171 Question Id : 97675522199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
North light trusses are generally provided in:
Options :

1. % Residential Buildings



2. ¥ Commercial Buildings
3. ¥ Industrial Buildings
4. # Institutional Buildings

Question Number : 171 Question Id : 97675522199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR UHTR ¢ AHTgd: T § ¥ foomd wa fore Sl €2
Options :

1. % SRty Hal o

2. % YIS Yo |

3. ¢ 3TN ol |

4. % GRINTT Yol H

Question Number : 172 Question Id : 97675522200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GRIHA refers to:

Options :

1. # Green Rating for International Habitat Assessment
2. # Green Rating for Integrated Housing Assessment
3. ¥ Green Rating for Integrated Habitat Assessment

4. ® Green Rating for Integrated Habitat Accreditation

Question Number : 172 Question Id : 97675522200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T8 (GRIHA) = & T fpq dafifd sra g2

Options :

1. # Green Rating for International Habitat Assessment (‘/ﬂ:f AETHR ‘i;CQ:IQI'-Iﬂ %Tsﬂ%_@ &r\ﬁﬂﬂa
2. #® Green Rating for Integrated Housing Assessment (‘;ﬂ:ﬁ'ﬁﬂ BIY $C'\I‘:{ES B3R 31{?1HJ:I'C)




3. ¥ Green Rating for Integrated Habitat Assessment (‘Jﬂ:f AT HR gélaés %a e W'_C')
4. % Green Rating for Integrated Habitat Accreditation (‘;ﬂ:[ AETHR 33"3@3 %é e Q%IEQQH)

Question Number : 173 Question Id : 97675522201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following does not play significant role in the site selection for Industries?
Options :

1. ¥ Nearness to markets

2. ¥ Nearness to related industries

3. % Nearness to source of supply of raw material

4. ® Nearness to the city

Question Number : 173 Question Id : 97675522201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffed & @ 5 I & o wd & = | Heayul Yy T8t Aumdr g2
Options :

1. % SORI F epedr

2. ¢ GefYd I F FRebedr

3. % e H1d $1 3MYfd o Al P FHdbedl

4. % Y Y Mewed

Question Number : 174 Question Id : 97675522202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is disadvantage of prefabricated strucutre?

Options :

1. ¥ Large prefabricated structures require heavy-duty cranes & precision measurement and handling to place in position.
2. ®% Quality control can be easier in a factory assembly line setting than a construction site setting.

3. # Prefabrication can be located where skilled labour, power materials space and overheads are lower.



4. ® Time spent in bad weather or hazardous environments at the construction site is minimized

Question Number : 174 Question Id : 97675522202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ o 91 gdfHa e &1 U@ S[aur g2

Options :

1. ¢ g8 QdHa Ieasi o fRufd & T & e srafiies fedres o1 SiR Téier H1u T € SfeiT &t saxgasdl gidl gl
2. % fanfor wa ot AfT & o & aet el arg A & Toraw 0T S 8 Tehdi 8 |

3. % gdfnor 98t fRUd 8 b § Tl H2Ia &1, faotelt Wl o1 5ive $iR sifafved Wd HH g 7

4. % U0 RIT TR WIS HIGH 1 @aRATS dIdraRl § fodmn T 99 &1 g1 9idl 8

Question Number : 175 Question Id : 97675522203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In assembly of prefabricated structure, Type of Modular Grid practised are:

a) Continuous grid

b) Superimposed grid
¢) Displacement of grid
Options :

1. % Onlyaandb

2. % Onlybandc

3. % Onlycanda

4. ¥ Alla,bandc

Question Number : 175 Question Id : 97675522203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JaffHd e & Yo H, Jaferd Aleger 18 & UHR SH-HIF U g2

a) Iddd re (Continuous grid )




b) 3 FRIfUd 8 (Superimposed grid)

¢) e &1 [a®ITUA (Displacement of grid)
Options :

1. % Hada 3R b

2. % HAAb 3R ¢

3. % PHadc3Ra

4.« Ot a, b 3R ¢

Question Number : 176 Question Id : 97675522204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a benefit of prefabrication construction?
Options :

1. % Eco friendly

2. # Flexibility

3. # Safety

4. ¥ Delay in construction time

Question Number : 176 Question Id : 97675522204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad & 3 & w1 g fafor & a8t 82
Options :

1. % UOiaRU & %A

2. % qHIdl

3. % gRef

4. i amg 4 8

Question Number : 177 Question Id : 97675522205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The normal minimum of size of aggregate should not be greater than:
Options :

1. ® 1/3rd of Minimum thickness of member.

2. ¥ 1/4th of Minimum thickness of member.

3. ® 1/8th of Minimum thickness of member.

4. % 1/5th of Minimum thickness of member.

Question Number : 177 Question Id : 97675522205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DHPIC (aggregate) BT IHRT AqH HTHR = 1 I fba 31fde =1 g1 anfgw?
Options :

1. % AR (member) aﬁwmﬁ 1/3d7|

2. ¢ HIX (member) aﬁwrha—sﬁﬁ 1/4dT|

3. % TR (member) aﬁmﬂﬁqmﬁ 1/84T|

4. % TR (member) aﬁ?ﬁﬂmﬂa‘éw 1/5 4|

Question Number : 178 Question Id : 97675522206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Surface area per unit weight of rapid hardening port land cement is:
Options :

1. ¥ 3250 cm?/gm

2. % 3200 cm?/gm

3. % 2250 cm®/gm

4. % 3000 cm?/gm

Question Number : 178 Question Id : 97675522206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3MTYEG U o' HiHe &1 Ufd 3hTs YR, Tde &%d a1 gidT 82



Options :

1. ¥ 3250 cm%/gm
2. % 3200 cm%/gm
3. % 2250 cm®/gm
4. % 3000 cm?/gm

Question Number : 179 Question Id : 97675522207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Slump test is not suitable for concrete whose maximum size of course aggregate exceeds:
Options :

1. % 20 mm

2. % 25mm

3. % 30 mm

4. ¥ 40 mm

Question Number : 179 Question Id : 97675522207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y TRIE0T 39 drebic & foIE SUgad el § ot Sfiddd R T 3w g g |
Options :

1. ¥ 20 mm

2. % 25mm

3. % 30 mm

4.4 40 mm

Question Number : 180 Question Id : 97675522208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In Bearing type of connections, the hole diameter in base plate shall not exceed the anchor bolt dia by more than:
Options :



* 2 mm
* 3 mm
* 4 mm
¥ 6 mm

Sl e

Question Number : 180 Question Id : 97675522208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PR & [GFH UBR (Bearing type) H, 99 W A 5% &1 M, TP dice & AN I Y 3{f¥e T8 g A1 T

Options :

. * 2mm

2. % 3 mm

3. % 4 mm

4. ¥ 6mm
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Question Number : 181 Question Id : 97675522209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The most suitable section for column is:
Options :

1. % ISLB

2. % ISMB

3. ¥ ISHB

4. % Both A and B

Question Number : 181 Question Id : 97675522209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B & oL Jad Iugad Ws FEfafad H Y dH A g?
Options :

1. % [SLB (33T

2. % ISMB (3TSTYTHE))

3. ¢ ISHB (3TSTTUTET)

4. % A 3R BIH!

Question Number : 182 Question Id : 97675522210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Factor of safety of how much is adopted for tension members and beams in working stress method?
Options :

1. ® 1.64

2. % 1.65

3. % 1.66

4.9 1.67

Question Number : 182 Question Id : 97675522210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afhT B Ays § T3 AR 3R &9 & forg IRET OIS ST STl g |
Options :

1. ® 1.64

2. % 1.65

3. % 1.66

4.9 1.67

Question Number : 183 Question Id : 97675522211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In CAD software, a keyboard shortcut which is used for toggles 3D object snap on/off is:
Options :

1. * F1

2. % F2

3. % F3

4. ¥ F4

Question Number : 183 Question Id : 97675522211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CAD TIHeRR T, T PI-as Yiche ol 3D HTsoide WU Dl 2T H & T SIAAT b1 STaT § 98 FeferRad & T o1 gid1 82



Options :
1. ¥ F1
2. % F2
3. % F3
4. ¥ F4

Question Number : 184 Question Id : 97675522212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In CAD software, a keyboard shortcut of Ctrl+Shift+V is used to:
Options :

1. ® Paste from clipboard into window

2. ¥ Paste a block into the window

3. # Close the AutoCAD window

4. ® QOpen the save drawing as dialog

Question Number : 184 Question Id : 97675522212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS} (CAD) FTedTqR H, Ctrl+Shift+V & B1-als Ve BT ST = & T a1 3 & foran fovan Sran g2
Options :

1. % fouers 3 fds! & Uk & & forw

2. ¢ {381 ¥ U sdileh U o o iy

3. % icins [dS I dg o & fag

4. % 3\?lﬁ'@,\zllg_"'[(save drawing) P! SIAANT & =0 H WiaH & [T

Question Number : 185 Question Id : 97675522213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A keyboard shortcut, which is used to close the AutoCAD window is:
Options :

1. ¥ Ctrl+Y



2. % Ctrl+N
3. ® Ctrl+9
4. ¥ Ctrl+Q

Question Number : 185 Question Id : 97675522213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 BIalS YIche I T 5, orenT ITINT 3iiciars fds] o da B o fore fvam wirar 82
Options :

1. % Ctrl+Y

2. % Cul+N

3. % Ctrl+9

4. ¢ Ctrl+Q

Question Number : 186 Question Id : 97675522214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of earthquake is produced in the same plate along some existing inland faults?
Options :

1. ¥ Intraplate crustal earthquakes

2. % Interplate crustal earthquakes

3. * Intraslab earthquakes

4. % Extrapotential earthquakes

Question Number : 186 Question Id : 97675522214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

$B Hio[aT HIBT SIS & 1Y Ueb 81 Ul H b TR &1 1y S BIdl 82

Options :
1. ¢ $CTWIC hicd YohU
2. % WIC Hed Y&y




3. % 3Cd Yhy
4. % TRCIAICRAA YU

Question Number : 187 Question Id : 97675522215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a robust structure, the resistance to seismic loads does not disappear suddenly after the maximum action is reached and the structure will stand
up, permitting evacuation and repair with an acceptable expense. In this condition, the structure failure can be defined as:

Options :

1. ¥ ductile collapse

2. % brittle catastrophic collapse
3. # elliptical collapse

4. % twisting collapse

Question Number : 187 Question Id : 97675522215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Ao Ia1 ¥, ifdmar HRaATs d%b Ugan & a1 YU HR &1 TeRIY M e el 811 § 3R IR U Wi @d & 1Y
fefeTauT 3R TRATd &1 ST G Ta! Bl ol 6 | 39 AT &, TRa1 &1 fawrad & ford TR aRHTd faran o 9t g2

Options :

1. ¢ T fAurd

2. % YR o RI fAurd
3. % drdqaeR o

4. % g fAura

Question Number : 188 Question Id : 97675522216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an indirect effect of earthquake?
Options :

1. # Earthquake vibration may cause landslides

2. % Soil vibration can shake a building off its foundation



3. # Seismic waves can destroy buildings

4. % Violent movement of seafloor may cause tsunamis

Question Number : 188 Question Id : 97675522216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad & @ ®1F 91 YU &1 Th UTef THTE 72
Options :

1. % YU P $HYT Y YRIa g1 9obdl §

2. % T2} 1 U fordlt SR &1 I ! -iia I g1 Il §
3. % YHHg I SHRA! B 6T HR Ihd! &

4. ¢ UL T & (69 T I A 3 Ihail ©

Question Number : 189 Question Id : 97675522217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Aims of house drainage is:

a) To maintain healthy conditions in the building
b) To dispose off waste water as early as possible
¢)To collect and remove waste matters systematically

Options :

1. # Onlya

2. % Bothaandb
3. % Bothaandc
4. % Alla,band ¢

Question Number : 189 Question Id : 97675522217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WU 5 i BT IS R BT/ Bid 82

a) Y- § T fRUfd 99117 T & forg




b) UMY ST BT FUTRNY e H & fau

¢) ARy yerf o) Tafyd U § Tha B3 3R g & forg
Options :

1. % Hdd a

2. % aS‘ﬁTbaT‘ﬁ

3. % aG'ﬁTca:ﬁ

4.¥a,b3?|?c¥ﬁ-ﬁ

Question Number : 190 Question Id : 97675522218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

water flushed plumbing fixture designed to receive the human excreta directly and is connected to the soil pipe by means of a trap are called
Options :

1. ¥ Water closet

2. # Urinals

3. ¥ Wash basins

4. # Bath tubs

Question Number : 190 Question Id : 97675522218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁﬁ@ﬁ%@%ﬁmmwwwwwﬁww%mmﬁqﬁfﬁf@@m%ﬁ@r G|
EIcIE

Options :

1. ¢ dic} FiNCT

2. % gRAY

3. % g aRE

4. % gy T

Question Number : 191 Question Id : 97675522219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Depending on shape which of the following is a trap:
Options :

1. #* Floor trap

2. % Q trap

3. % Gully trap

4. # Intercepting trap

Question Number : 191 Question Id : 97675522219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Tpfa & 3MYR W Fafafed § o 91 Te S 72
Options :

1. ® U’Fﬁ??ﬂ (Floor trap)

2. ¥ QU (Q trap)

3. % el ?:q (Gully trap)

4. % ZTYT ?\'E{ (Intercepting trap)

Question Number : 192 Question Id : 97675522220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bowl type and Stall type are types of:
Options :

1. # Water closet

2. % Urinals

3. % Wash basins

4. ¥ Bath tubs

Question Number : 192 Question Id : 97675522220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T3 UBR 3R Tid UhR g 7 3 fFas TaR §2




Options :

1. % gIcY AN
2. ¢ gRAN

3. % QI aRH
4. % dIYcd

Question Number : 193 Question Id : 97675522221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Squatting and pedestal are types of:
Options :

1. ¥ Water closet

2. % Urinals

3. ¥ Wash basins

4. % Bath tubs

Question Number : 193 Question Id : 97675522221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THICT 3R USed [hdd UHR B 57
Options :

1. ¢ G} KNS

2. % QR

3. % g7 aRH

4, % dIYcd

Question Number : 194 Question Id : 97675522222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a solution for manhole failures?
Options :



1. # Grouting
2. % Installing compactors
3. % Providing manhole liner

4. ¥ Enabling corrosion protection

Question Number : 194 Question Id : 97675522222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed § § S A9Id &1 WRTe! &1 U THIUT 51 87
Options :

1. % gr3féa

2. ¢ SR JTUT HIAT

3. % TR 3R UaH Bl

4. % ST H&RUT DI JaH HAT

Question Number : 195 Question Id : 97675522223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In National Highways Gradient should be the ruling gradient.
Options :

1. ¥ Equal to

2. # Less than

3. ® Greater Than

4. % Not related to

Question Number : 195 Question Id : 97675522223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST ST H AT, w e Afgue HEIEIR
Options :

1. ¥ & SRR



Question Number : 196 Question Id : 97675522224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of transition curve is recommended by Indian Road Congress in the horizontal alignment of highways?
Options :

1. # Lemniscate.

2. ¥ Clothoid.

3. % Parabola.

4. # Cubic Parabola.

Question Number : 196 Question Id : 97675522224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR TS& B GRT AR & Afast TG0 § {5 YhR & AHHUT Ih DT 30T 1 Il 82
Options :

1. #® aﬂﬁm( Lemniscate)

2. ¢ FAIYITS (Clothoid)

3. % TRddY (Parabola)

4. #® Y4 UIIAT (Cubic Parabola)

Question Number : 197 Question Id : 97675522225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In roads Sub-surface drainage is provided when:
Options :

1. ¥ Ground water level is high

2. # Land slide



3. % Shrinkage of soil

4. # Cracks in pavement

Question Number : 197 Question Id : 97675522225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tso! § IU-Idg o eI UeH I et 8, 59
Options :

1. ¢ YSTe &R ST 8

2. % YRIT i1 8

3. % YT BT Ypo gIal &l

4. % PN RN US &l

Question Number : 198 Question Id : 97675522226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cable stayed bridges are preferred when the span is:
Options :

1. # lesser than 100 meters

2. # Less than 150 meters

3. % Greater than 150 meter

4. % Equal to 150 meter

Question Number : 198 Question Id : 97675522226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foqid® AW bad X 4g Pl UriHewd §f S 5
Options :

1. % 100 ficR A HH

2. % 150 HICRY HH

3. ¢ 150 Hiex 9 3



4. % 150 HeX b SRIER

Question Number : 199 Question Id : 97675522227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The impact factor used in the design of bridge decks is always inversely proportional to the:
Options :

1. #® width of the bridge deck

2. ¥ gspan length

3. % material used in construction

4. ® type of vehicle

Question Number : 199 Question Id : 97675522227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ISP & STRA A I T B Ted & Sepb AU ST g
Options :

1. % Y SH DI AISTs

2. ¢ fagfa o1 darg

3. % fmfor o ygeq wmht

4. % qIg &b UDHR

Question Number : 200 Question Id : 97675522228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A False statement regarding the Box culverts is:

Options :

1. # Box culverts are economical due to their rigidity and monolithic action

2. ¥ Separate foundations are required since the bottom slab resting directly on the soil, serves as raft slab
3. % For small discharges, single celled box culvert is used

4. % The barrel of the box culvert should be of sufficient length to accommodate the carriageway and the kerbs.



Question Number : 200 Question Id : 97675522228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STy gferar o Iae 7 Ueh SR pyd A H A pa A1g?

Options :

1. # Sy Yfordr U HoRdT 3R 3RS fohal & HRUT [ gld o

2. ¥ 3G Hid DI TSI BIdil & Fifh dleH Wid T et | fewT grar g, St fob e Wig & =0 § &1 Hdl &
3. % $ g & o, Tord HIss Siad ferdT o1 SUTNT fosa SiTdl §

4. % URTg AT 3R fHTR BT THARNT HRA & o8 Siad gfern &1 9o uaid dars &1 aHl angy|




